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5686 IDENTIFICATION

5691 PRODUCT CODE:  AC-T&49A-MC

5693 PRODUCT NAME: CNDRAAO DRV11B DMA INTFC DIAG
5695 DATE: DEC 1982

5697 MAINTAINER: DIAGNOSTIC SERVICES/ISS

5699 AUTHOR: T.CHAPSKY

5707 (C) 1982,1983
5708 DIGITAL EQUIPMENT CORPORATION, MAYNARD, MASS.

5710 THIS SOFTWARE IS FURNISHED UNDER A LICENSE FOR USE ONLY ON A SINGLE
571 COMPUTER SYSTEM AND MAY BE COPIED ONLY WITH THE INCLUSION OF THE ABOVE
5712 COPYRIGHT NOTICE. THIS SOFTWARE, OR ANY OTHER COPIES THEREOF, MAY NOT
BE PROVIDED OR OTHERWISE MADE AVAILABLE TO ANY OTHER PERSON EXCEPT FOR
USE ON SUCH SYSTEM AND TO ONE WHO AGREES TO THESE LICENSE TERMS. TITLE
TO AND OWNERSHIP OF THE SOF TWARE SHALL AT ALL TIMES REMAIN IN DEC.

THE INFORMATION IN THIS DOCUMENT IS SUBJECT TO CHANGE WITHOUT NOTICE AND
SHOULD NOT BE CONSTRUED AS A COMMITMENT BY DIGITAL EQUIPMENT CORPORATION.

DEC ASSUMES NO RESPONSIBILITY FOR THE USE OR RELIABILITY OF ITS SOF TWARE
ON EQUIPMENT WHICH IS NOT SUPPLIED BY DEC.
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TABLE OF CONTENTS

ABSTRACT

REQUIREMENTS
EQUIPMENT
STORAGE

LOADING PROCEDURE

STARTING PROCEDURE
PROGRAM START

SOF TWARE SWITCH REGISTER
OPTIONS
CONTROL

ERROR REPORTING
ERROR COMMENT
ERROR DATA

MISCELLANEOUS

DRV11B BUS & VECTOR ADDRESS MODIFICATION
XXDP/APT NOTES

POWER FAIL

MULTIPLE DRV11B INTERFACE TESTING
RESTRICTIONS

EXECUTION TIME

PROGRAM TEST DESCRIPTIONS s
GENERAL

REGISTER TESTS

BYTE _ADDRESSING TESTS

'FNCT® TO 'STAT' WRAP AROUND TEST

READY INTERRUPT TEST

NPR DATA TRANSFER TESTS

MAINT MODE NPR DATA TRANSFER TESTS

BURST & NON-BURST MODE TESTS

'NEX® ERROR CONDITION TEST

REVISION HISTORY

CVDRAC WAS MADE SPECIFIC TO 11/21 PROCESSOR BY CHANGING

PRIORITY 7 TO 6 AND ALSO CHANGING DEFAULT ADDRESS AND VECTOR

AND ALSO ADDING A CALL TO CNMAC2.SML TO INIT ODT AND LTC VECTORS.
THE DIAGNOSTIC WAS RENAMMED TO CNDRAAO.
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- 5781 1.0 ABSTRACT
5784 THE_DRV118 DIAGNOSTIC PROGRAM IS A SERIES OF TESTS DESIGNED
| 5785 TO TEST ALL LOGIC FUNCTIONS AND DATA PATHS ACCESSIBLE WITH
| 5786 THE LOOP BACK CABLE INSERTED IN THE USER 1/0 CONNECTORS,
| 5787 TOTAL PROGRAM CONTROL IS ACCOMPLISHED THRU THE CONSOLE TERMINAL
| 5788 VIA THE ODT/CONSOLE MICROCODE AND THE PROVISIONS OF SECTION 5
5789 OF THIS DOCUMENT. IF THE SYSTEM ALSO INCLUDES AN ‘REVI1"* (DMA REFRESH),
3790 THE DMA REFRESH MUST BE DISABLED AND CPU REFRESH MUST BE ENABLED.
| 5792 2.0 REQUIREMENTS
| §793 -
5794
5795 2.1 EQUIPMENT
5796
5797 1. LSI=1] FAMILY PROCESSOR.
5798 11/03(LS1-11702), 11/23(KDF11-A), 11/238(KDF11-8)
5799 2. DLVI1 WITH 1/0 TYPE TERMINAL
3800 3. DRVI1B WITH LOOP BACK CABLE
3802 2.2 STORAGE
3804 THE PROGRAM USES THE LOWER 4K OF MEMORY.
5806 3.0  LOADING PROCEDURE
2
5809 IF USING PAPER TAPE READER FOLLOW THIS PROCEDURE :
5810 1. ASSURE THAT THE LSI-11 IS IN THE ODT MICROCODE STATE.
3811 2. LOAD THE LOW OR WIGH SPEED READER WITH THE ABSOLUTE LOADER
5813 3. TYPE THE READER'S CSR ADDRESS (177560-LOW OR 177550-HIGH)
5814 AND CHARACTER ‘L°.
5815 4. AFTER TAPE IS LOAGED, LOAD THE DRV118 BINARY TAPE INTO THE
5816 READER AND TYPE THE CHARACTER °
5817 5. IF THE ABSOLUTE LOADER WAS ALREADY BEEN LOADED (STEPS 2 & 3).
5818 THEN ONLY THE STARTING ADDRESS OF THE ABSOLUTE LOADER AND
5819 THE_CHARACTER 'G' NEED BE TYPED (WITH THE DRVI1B BINARY TAPE
2820 IN THE APPROPRIATE READER).
5822 4.0  STARTING PROCEDURE
5823 \ -
5824
5825 FOR PAPER TAPE MEDIA:
5826 MAKE SURE THE MAINTENANCE LOOP BACK CABLE IS INSERTED IN
5897 THE 170 CONNECTORS ON THE M7950 MODULE.
5828 2. WAKE SURE THE DEVICE BUS & VECTOR ADDRESSES AGREE WITH THE
5829 DEFAULT VALUES DEFINED IN SECTION 7.1. [F NOT, CHANGE
5830 LOCATION(S) AS DESIRED VIA THE 'ADDRESS/' ODT COMMAND.
5831 3. INSURE THAT THE WALT SWITCH IS DISABLED (IF ANY).
5832 4. TYPE THE STARTING ADDRESS OF 200 AND THE CHARACTER G.
5833 5. THE PROGRAM WILL RESPOND BY TYPING THE SOF TWARE SWITCH
5834 REGISTER CONTENTS AND ALLOWING THE USER TO CHANGE ITS
5835 CONTENTS BY ENTERING OCTAL SWITCH REGISTER DATA TERMINATED
5836 BY A CARRIAGE RETURN = SEE SECTION 5.0 FOR SWITCH REGISTER

L L S S AP LN LR
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OPTIONS.
THE NEXT QUESTION ASKED IS ABOUT THE TYPE OF A PROCESSOR.
;}gg 'Y' WITH CARRIGE RETURN IF USING KDF11-B, °N' OTHER-

RUNNING UNDER XXDP+ MONITOR:

DO 1., 2., 3. OF THE ABOVE.

IN MONITOR MODE TYPE IN 'R NDRAA?',
DO 5. AND 6.

LA 422

IF USING LS1=11/23B(KDF11-B) AND WANT TO TEST DMA TRANSFERS TO
170 PAGE PUT THE ADDRESS OF YOUR I/0 INTERFACE CONTROL RE=-
GISTER INTO LOCATION 1544 (IOPAGE). TO DO THIS PERMANENTLY USE
LOAD-MOD=DUMP PROCEDURE DEFINED IN 7.2. FOR TEMPORARY CHANGES
JUST MODIFY LOCATIONS AFTER LOADING THE PROGRAM,

NOTE: THIS TEST IS NOT GOING TO BE PERFOMED UNLESS THE ABOVE

MENTIONED LOCATIONS ARE MODIFIED.

SEQ 0005
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5.0

5.1
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SOFTWARE SWITCH REGISTER

OPTIONS

SWITCH OCTAL FUNCTION

SW15=1 100000 HALT ON ERROR

SW14=1 040000 LOOP ON TEST

SW13=1 020000 INHIBIT ERROR TYPEOUTS

SW11=1 004000 INHIBIT ITERATIONS

SW10=1 002000 BELL ON ERROR

SW09=1 001000 LOOP ON ERROR

Sw08=1 0004 XX LOOP ON TEST IN SWR <5-0>
rx+SW07=1 000200 DEVICE IS KDF11-B

««+DIAGNOSTIC WILL SET THIS SWITCH AUTOMATICALLY, IF THIS TYPE
OF A PROCESSOR HAS BEEN CONFIRMED IN A DIALOGUE. IF RUNNING IN
AUTOMATIC MODE (CHAINS UNDER XXDP OR APT) SEE SECTION 7.2

CONTROL

5.2

6.0

6.1

6.2

1.
2.

3.

‘o

THE SOFTWARE SWITCH REGISTER °'SWREG' (LOC. 176) CAN BE
CHANGED BY USING THE ODT FACILITIES.

THE SOFTWARE SWITCH REGISTER CAN BE CHANGED UNDER PROGRAM
CONTROL BY TYPING THE °‘CONTROL & G' KEYS. THIS

KEYBOARD OPERATION WILL PRINT OUT THE CURRENT CONTENTS
AND ACCEPT NEW OCTAL SWITCH REGISTER DATA TERMINATED
WITH A CARRIAGE RETURN.

ONCE THE ODT MODE HAS BEEN ENTERED BECAUSE OF AN

ERROR CONDITION WITH BIT15 SET (HALT ON ERROR), STEP #2
ABOVE IS OF NO VALUE, SO RESORT TO STEP #1 TO ALTER THE
§ng¥Gg§t§:6E§H REGISTER IF DESIRED BEFORE TYPING

IF THE PROGRAM IS PERFORMING RESET INSTRUCTIONS, SEVERAL
ASO?LgO%Rgcg;"COHHANDS MAY BE NECESSARY TO BE ACKNOWLEDGE

ERROR REPORTING

ERROR COMMENT

ALL ERRORS ARE ACCOMPANIED WITH AN ENGLISH LANGUAGE DESCRIPTIVE
COMMENT AS TO THE TYPE OF FAILURE. FURTHER QUALIFICATION OF

THE ERROR CAN BE OBTAINED IF NEEDED FROM THE COMMENT AT THE
ERROR PC OR FROM THE TEST ITSELF.

ERROR DATA ;

*ERRP( LISTING ADDRESS WHERE THE ERROR WAS DETECTED
*TSTNUM TEST NUMBER WHERE THE ERROR OCCURRED

BUSADR DRV11B BUS REG ADDRESS OF CONCERNED OPERATION
EXPCT DATA THAT WAS EXPECTED

RCVD DATA THAT WAS RECEIVED

ADRS MEMORY ADDRESS OF DATA TRANSFER ON ERROR

-y -

— e — i~ ——et .~ e —————— . . —

SEQ 0006
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L 5912 «ALVW"Y; REPORTED ’
5913 7.0 M < _ANEOUS
' gg}g L ———
! gg;g ¢ 7.1 DRV116 BUS & VECTOR ADDRESS MODIFICATION
' 5918 MODIFY LOCATION *$BASE® IF BASE BUS ADDRESS IS NOT 174600.
I gg;g MODIFY LOCATION °*SVECT1' IF VECTOR ADDRESS IS NOT 210.
§921 *NOTE: USE THE LSI=11 ODT FACILITIES TO MODIFY THESE LOCATIONS
§922 AFTER PROGRAM LOAD. NO VECTOR ASSIGNMENT ABOVE 774 SHOULD BE
§923 ALLOWED.
5924
gggg 7.2 XXDP/AFT NOTES
§927 THIS DIAGNOSTIC IS CHAINABLE UNDER XXDP (REF. 7.5) (REQUIRES 8K OR MORE).
gggg THIS DIAGNOSTIC DOES SUPPORT “APT'* AND HAS RUN UNDER IT.
§930 IF THE PROCESSOR USED IS KDF11-B:
5931 FOR APT SET $SWREG BITO7 TO 1 (000200)
5932 FOR XXDP CHAINS SET LOCATION 176 (SWR) BITO? TO 1
5933 TO DO THIS UNDER XXDP:
5934 , 1. R UPD2
5935 2. LOAD NDRAA?.BIC
5936 3. MOD 176
5937 THE TERMINAL WILL RESPOND: 1767000000
5938 &. NOW TYPE IN 200
5939 5. BE CAREFUL: AT THIS POINT IT IS NECESARY TO DELETE THE FILF
5940 FROM THE DISK.
5941 DEL DLO:NDRAA?.BIC (IF MEDIA IS RL ON DRIVE 0)
5942 6. DUMP NDRAAO.BIC
5943 TO BE SAFE, SKIP 5. AND DUMP THE FILE UNDER DIFFERENT NAME
5944 WITH .BIC EXTENSION.
§945 NOTE: THIS PROCEDURE ASSUMES THAT DIAGNOSTIC IS ON THE DISK ’
5946 FROM WHICH THE SYSTEM IS BOOTED. IF THIS IS UNTRUE
5947 IN 2. AND 6. THE OPERATOR HAVE TO SPECIFY THE DRIVE BEFORE
5948 THE NAME. "
5949
gggg 7.3 POWER FAIL
5952 A POWER FAILURE WILL CAUSE A RESTART MESSAGE ON POWER UP AT
5953 WHICH TIME THE PROGRAM 1S RESTARTED (ONLY ON SYSTEMS WITH
gggg NON-VOLATILE MEMORY AND WITH APPROPRIATE HARDWARE).
gggg 7.4 MULTIPLE DRV11B INTERFACE TESTING
5958 THIS PROGRAM DOES NOT ‘‘AUTO=-SIZE'' THE NUMBER OF DRV11B'S CONNECTED.
5959 THIS DIAGNOSTIC WILL TEST SEQUENTIALLY UP TO 8 DRVI18B INTERFACES
£960 WITH CONTIGUOUS BUS AND VECTOR ADDRESSES. THIS IS ACCOMPLISHED
5961 BY THE OPERATOR SETTING UP LOfQTlON "SDEVM®' WITH A BIT MAP INDICATING WHAT
5962 INTERFACES ARE TO TESTED. I.E. BITO=1 SAYS TEST 1ST DRV11B,
?322 BIT1=1 SAYS TEST 2ND DRVi1B, BIT2=1 SAYS TEST 3RD DRV11B, EfTC..
2322 7.5 RESTRICTIONS
5967 IF THE SYSTEM ALSO INCLUDES AN "REV11'* (DMA REFRESH), THE DMA
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SEQ 0008

|CNDRAA.P11 ~ 14=DEC~82 1
5368 REFRESH MUST BE DISABLED AND CPU REFRESH MUST BE ENABLED.
5970 8.0  EXECUTION TIME
3972
5973 EXECUTION TIME RANGES FROM ABOUT 5 SECONDS WITH NO ITERATIONS
5974 TO ABOUT 90 SECONDS WITH ITERATIONS ENABLED WITH ONE DRV11B CONNECTED.
5975 AN END PASS MESSAGE INDICATES ALL TESTS WAVE COMPLETED ON ALL SELECTED UNITS.
- 3378 9.0  PROGRAM TEST DESCRIPTIONS
5978 #
3979 9.1 GENERAL
5981 THIS DIAGNOSTIC CONTAINS A SERIES OF INDEPENDENT TESTS DESIGNED
5982 T0 TEST LOGIC FUNCTIONS AND DATA PATHS OF THE DRV118 DMA INTERFACE.
5983 A HIGH DEGREE OF TESTING IS ACCOMPLISHED WITH THE AID OF THE
5984 MAINTENANCE LOOP BACK CABLE PROVIDED FOR DIAGNOSTIC TESTING.
5985 A_COMPLETE LIST OF TESTS IS AVAILABLE IN THE TABLE OF CONTENTS
5986 AT THE BEGINNING OF THE LISTING, THE COMMENT FIELD WITHIN
3987 - EACH TEST CAN BE BENEFICIAL IN TEST UNDERSTANDING.
2989 9.2  REGISTER TESTS
3991 THE FOLLOWING REGISTERS ARE READ/WRITE & RESET TESTED:
5993 1. WORD COUNT
5994 2. BUFFER ADDRESS
5995 3. COMMAND/STATUS
293 4. DATA BUFFER
29%8 9.3  BYTE ADDRESSING TESTS
6000 1. COMMAND/STATUS
6001 2. DATA BUFFER
6003 9.4 "FNCT* TO "STAT' WRAP AROUND TEST
6005 9.5  READY INTERRUPT TEST
6007 9.6  NPR DATA TRANSFER TESTS
6009 THE FOLLOWING NPR XFERS ARE CHECKED FOR CORRECT STATUS,
6010 WORD COUNT, BUFFER ADDRESS & DATA:
6012 1. SINGLE "DATI® XFER = FLOATING 1/0 PTRN
6013 2. SINGLE °*DATO' XFER - FLOATING 1/0 PTRN
6014 3. 200 °DATI' XFERS = FLOATING 1/0 PTRN
6015 4. 200 'DATO' XFERS = FLOATING 1/0 PTRN
6016 5. SINGLE °*DATI' XFER TO THE TTY PRINTER CSR
6017 FOR KDF11-B PROCESSOR THE USER HAVE TO SELECT
6018 CSR OF A FARTICULAR INTERFACE (DISK INTERFACES
6019 ARE SUGGESTED). SOME OF THEM ARE:
6020 RXVIT  (RX01): 177170
6021 RXV21  (RX02): 177170
6022 RKVI1=D (RKOS): 177404
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. CNDRAA.F11

14-DEC-82 11:4
9.7

9.8

9.9
10.0

11.0

MAINT MODE NPR DATA TRANSFER TESTS

1. THAT MAINT MODE CONTROLS 'FNCT' BITS

2. 200 MAINT MODE XFERS = CHECKING STATUS & DATA
3. 200 MAINT MODE XFERS TO EACH 4K AVAILABLE MEM
BURST & NON-BURST MODE TESTS

1. THAT CPU IS LOCKED OUT IN BURST MODE
2. THAT CPU IS NOT LOCKED OUT IN NON-BURST MODE

"NEX' ERROR CONDITION TEST
REM!SICN HISTORY

CVDRAC- DIAGNOSTIC WAS ‘MADE SPECIFIC TO 11/21 PROCESSOR AND

IS CALLED CNDRAAO.
LISTING

SEQ 0009
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.TITLE MAINDEC-11-CNDRA-A DRV11B DMA INTERFACE DIAGNOSTIC

o
o
W
&~

(1) :+«COPYRIGHT (C) 1982
(N ;+DIGITAL EQUIPMENT CORP.
| §}§ *HAYNARD MASS. 01754
s f}; -paosnnn BY R. MOORE
LM -rnxs PROGRAM WAS ASSEMBLED USING THE PDP=11 MAINDEC SYSMAC
g §}§ tPACKAGE (MAINDEC=11-DZQAC=C3), JAN 19, 1977.
| ! %
ISP 000001 §Tn1
LB 160000 $SWR=160000 ::HALT ON ERROR, LOOP ON TEST, INHIBIT ERROR TYPOUT
| 6055 167400 $SWR=167400
6056 000300 $SWRMK=300
6057 000001 $TN=1
6??? .SBTTL OPERATIONAL SWITCH SETTINGS
:t
(1 ;v SWITCH USE
(1) :' ------
(1 w 15 HALT ON ERROR
(1 I 14 LOOP ON TEST
(1 I 13 INHIBIT ERROR TYPEOUTS
%)) i 11 INHIBIT ITERATIONS
%)) v 10 BELL ON ERROR
(1) ;e 9 LOOP ON ERROR
(1 1T 8 LOOP ON TEST IN SWR<S5:0>
6??? .SBTTL BASIC DEFINITIONS
(N ;*INITIAL ADDRESS OF THE STACK POINTER ### 1100 #*+
(N 001100 STACK= 1100
(1 LEQUIV EMT,ERROR ::BASIC DEFINITION OF ERROR CALL
g}; .EQUIV 10T,SCOPE ::BASIC DEFINITION OF SCOPE CALL
(1) *HISCELLANEOUS DEFINITIONS
(1) 000011 HT= 11 ::CODE FOR HORIZONTAL TAB
(1) 000012 LF= 12 ::CODE FOR LINE FEED
(1) 000015 CR= 15 ::CODE FOR CARRIAGE RETURN
(1) 000200 CRLF= 200 ::CODE FOR CARRIAGE RETURN=-LINE FEED
(1 177776 PS= 177776 : ;PROCESSOR STATUS WORD
(1 LEQUIV PS,PSW
(1) 177774 STKLMT= 177774 ;sSTACK LIMIT REGISTER
(1) 177772 PIRQ= 177772 :PROGRAM INTERRUPT REQUEST REGISTER
(N 177570 DSWR= 177570 ..HARDHARE SWITCH REGISTER
(N 177570 DDISP= 177570 :HARDWARE DISPLAY REGISTER
(1) sexeex  THE FOLLOWING ODT START ADDRESS FOR SBC 11/21 IS ADDED
(1 170000 oDTST= 170000
(1 : *GENERAL PURPOSE REGISTER DEF INITIONS
1N 000000 RO= %0 GENERAL REGISTER
(1 000001 R1= 1 ..GENERAL REGISTER
(1) 000002 R2= % : :GENERAL REGISTER
(1) 000003 R3= % : ;GENERAL REGISTER
(1) 000004 Ré= ¥4 : :GENERAL REGISTER
(1) 000005 RS= 5 : :GENERAL REGISTER
(1 000006 R6= %6 ::GENERAL REGISTER
(1 000007 R7= X7 : :GENERAL REGISTER
(N 000006 SP= %6 +:STACK POINTER
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' CNDRAA.P11 14-DEC~82 11:43 BASIC DEFINITIONS SEQ 0011
| D) 000007 PC= X7 : ;PROGRAM COUNTER
‘ :*PRIORITY LEVEL DEFINITIONS
| 000000 PRO= 0 ::PRIORITY LEVEL 0
. 000040 PR1= 40 ::PRIORITY LEVEL 1
! 000100 PR2= 10N ::PRIORITY LEVEL ;
i 000140 PR3= 140 :;PRIORITY LEVEL
: 000200 PR4= 200 ::PRIORITY LEVEL &
s 000240 PRS= 240 ::PRIORITY LEVEL §

000300 PR6= 300 :;PRIORITY LEVEL 6

000340 PR7= 340 ::PRIORITY LEVEL 7

o swxrcu REGISTER'* SWITCH DEFINITIONS

100000 SW15= 100000

040000 SWi4= 40000

020000 SW13= 20000

010000 SW12= 10000

004000 sWil= 4000

002000 SWi0= 2000

001000 SW09= 1000

000400 Sw08= 400

000200 swo7= 200

000100 SW06= 100

000040 SW0S5= 40

000020 SWo4= 20

000010 swo3= 10

000004 sWwi2= &

000002 swol= 2

000001 SW00=

1
.EQUIV SwW09,Sw9
.EQUIV SW08,Sw8
.EQUIV SW07,Sw7
.EQUIV SWO06,SWé
.EQUIV SWO05,SW5
.EQUIV SW04,SwWé4
.EQUIV SW03,SW3
.EQUIV SW02,Sw2
.EQUIV SWOT,SW1
.EQUIV SWO00,SWO

N TN N TN TN NN N NN NN NN NN, TN NN NN N PN N TN NN, N NN NN TN PN NN NN PN PN PN N NN NN NN NN
— cod d emd d ed ek d el d e d D et ed b e D D ed e d ) e e ) ) e b e e D d e ) e ) b D e D e e D ) d b D D b e b D b
Nl N N N N N N N A A P A i A B b A N N A b b b " - P P P b A A A b A P A P A i P P

:*DATA BIT DEFINITIONS (BITOO TO BIT15)

100000 B8IT15= 100000
40000 BIT14= 40000
20000 BIT13= 20000
€10000 BIT12= 10000
004000 BIT11= 4000
002000 BIT10= 2000
001000 BIT09= 1000
000400 BIT08= 400
000200 BIT07= 200
000100 BITO6= 100
000040 BIT05= 40
000020 BITO4= 20
000010 BIT03= 10
000004 BITO2= 4
000002 BITO1= 2

—— —— ———— —— . ot . . e e —_— - —
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000000

000174

|
|
|
v
|
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14-DEC-82 11:43 BASIC DEFINITIONS
000001 BITO0= 1
.EQUIV BIT09,BIT9
.EQUIV BIT08,BIT8
.EQUIV BIT07.BIT?
.EQUIV BIT06.BIT6
.EQUlv BITOS.BITS
EQUIV BIT04.BIT4
.EQUIV BIT03.BIT3
.EQUIV BIT02,BIT2
.EQulv BITO01.BIT1
.EQuIv BIT00,BITO
:*BASIC "'CPU'* TRAP VECTOR ADDRESSES
000004 ERRVEC= & ::TIME OUT AND OTHER ERRORS
000010 RESVEC= 10 ..aesenvso AND ILLEGAL INSTRUCTIONS
000014 TBITVEC=14 "BIT
000014 TRTVEC= 14 ,.TRACE TRAP
000014 BPTVEC= 14 : ;:BREAKPOINT TRAP (BPT)
000020 IOTVEC= 20 :: INPUT/OUTPUT TRAP (IOT) %+SCOPE**
000024 PWRVEC= 24 ; ;POWER FAIL
000030 EMTVEC= 30 ..EHULATOR TRAP (EMT) *+ERROR#+
000034 TRAPVEC=34 S :"TRAP"' TRAP
000060 TKVEC= 60 ::TTY KEYBOARD VECTOR
000064 TPVEC= 64 :TTY PRINTER VECTOR
PR rne FOLLOWING BREAK VECTOR AND LINE CLOCK VECTOR ARE INCLUDED
000100 LKVEC= 100 ::LINE CLOCK VECTOR
000140 BRKVEC= 140 : sBREAK VECTOR
000240 PIRQVEC=240 :PROGRAM INTERRUPT REQUEST VECTOR
174600 ABASE= 174600 éAse DRV11B BUS ADRS EQUATE
000210 AVECT1= 000210 :BASE DRV11B VECTOR ADRS EQUATE -
000001 ADEVM= 1 :DEFAULT TO ONE DRV11B
106427 MTPS=106427 :INSTR EQUATE THAT MOVES BYTE TO PSW
177522 TMAIN: 177522 :MAINTENCE REGISTER(FOR USE WITH KDF11-B)
.SBTTL TRAP CATCHER
000000 .=0
;*ALL UNUSED LOCATIONS FROM & = 776 CONTAIN A '*.+2,HALT"
:*SEQUENCE TO CATCH ILLEGAL TRAPS AND INTERRUPTS
o :*LOCAT10N194C0NTAINS 0 TO CATCH IMPROPERLY LOADED VECTORS
000000 DISPREG: .WORD 0 ::SOFTWARE DISPLAY REGISTER
000000 SWREG: .WORD 0 ::SOFTWARE SWITCH REGISTER

e lalelalale el i)
— el ) =D ) ) —d D b
N N N NN N N N N

000176
000200
000100

000137 001550
000100
000104 000200 000002

.SBTTL STARTING ADDRESS(ES?
JMP @#START ;;JUMP TO STARTING ADDRESS OF PROGRAM

.=100
.WORD  104,200,2 sIF "B EVENT® ON Q BUS IS CONMECTED
sIGNORE IT'S INTERRUPT = JUST DO A RTI

SEQ 0012
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'CNDRAA.F11  14=DEC=82 11:43 ACT11 HOOKS * SEQ 0013
6?;? JSBTTL ACT11 HOOKS
ii.*Q.'i'Q'.Q..Qtti"i*'.Q.'..*'.Q'..tti'.i""'...'.".'Q.".Q
*fi00KS REQUIRED BY ACT11
000106 $SVPC=. :SAVE PC
000046 "246
000046 8688%3 $ENDAD ::1)SET LOC.46 TO ADDRESS OF SENDAD IN .SEOP
000052 000000 WORD 0 ;:2)SET LOC.52 TO ZERO
88?688 L=$SVPC **“RESTORE PC

oo

e lalelealolalalealalalalelalalealalalalalal == P N N el el e
— e d e e ) D d ) e [\) D d e e D e [\ e ) D S N e e d d e 2 N
Nt N N N N N N NP N N N b N N S ot o o [ i N N " N S N

0‘1000
.SBTTL APT PARAMETER BLOCK

dARAARAARAAANIAARAAAARRCRARAAAARORAAAAAAA A AR AT Rd

SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT

AR AR A A A A d A A A Al Al Al d it ittt ittt ittt dldd)

001000 .$X=,  ;;SAVE CURRENT LOCATION

000024 . =24 :sSET POWER FAIL TO POINT TO START OF PROGRAM
000024 000200 200 ::FOR APT START UP

000044 =44 :sPOINT TO APT INDIRECT ADDRESS PNTR.
000044 001000 $APTHDR ;;POINT TO APT HEADER BLOCK

001000 «=.8X  ;;RESET LOCATION COUNTER

AL AL R A A A A AR d il i it d it iiiiiiid il d)

sSETUP APT PARAMETER BLOCK AS DEFINED IN THE APT=-PDP11 DIAGNOSTIC
s INTERFACE SPEC.

001000 $APTHD :

001000 000000 $HIBTS: .WORD O :TWO HIGH BITS OF 18 BIT MAILBOX ADDR.

001002 001174 $MBADR: .WORD  $SMAIL ..ADDRESS OF APT MAILBOX (BITS 0-15)

001004 000031 $TSTM: .WORD  25. :RUN TIM OF LONGEST TEST

001006 000006 $PASTM: .WORD 6. ::RUN TIME IN SECS. OF 1ST PASS ON 1 UNIT (QUICK VERIFY)

001010 000144 SUNITM: .WORD  100. :;ADDITIONAL RUN TIME (SECS) OF A PASS FOR EACH ADDITIONAL UNIT

001012 009052 .WORD  SETEND-SMAIL/2 ;;LENGTH MAILBOX~E TABLE (WORDS)
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(MAINDEC=11=-CNDRA=A DRV11B DMA INTERFACE DIAGNOSTIu MACY11 30(18‘6) 14-DFC=82 11:44 PAGE 61-4
CNDRAA. P11 14-DEC-82 11:43 COMMON TAGS SEQ 0014
6?{; .SBTTL COMMON TAGS
I (2) -4 "t.ﬁ.t"t....Q*..'*'Q""'.i'ii..'t.'ttii'il‘i.'i."t'ti..t'."
(N ;*THIS TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS
g}; ;*USED IN THE PROGRAM.
(1N 001100 .=1100
(1) 001100 $CMTAG: :sSTART OF COMMON TAGS
(1) 001100 000000 WORD 0
(1) 00110% 000 $TSTNM: .BYTE 0 s sCONTAINS THE TEST NUMBER
(1) 00110 000 $ERFLG: .BYTE 0 s sCONTAINS ERROR FLAG
(1) 001104 000000 S$ICNT: .WORD O s sCONTAINS SUBTEST ITERATION COUNT
(1) C01106 000000 SLPADR: .WORD 0 : :CONTAINS SCOPE LOOP ADDRESS
(1) 001110 000000 SLPERR: .WORD 0 ¢ sCONTAINS SCOPE RETURN FOR ERRORS
(1) 001112 000000 SERTTL: .WORD O s sCONTAINS TOTAL ERRORS DETECTED
(1) 001114 000 SITEMB: .BYTE O s sCONTAINS ITEM CONTROL BYTE
(1) 001115 001 SERMAX: .BYTE 1 : ;CONTAINS MAX. ERRORS PER TEST
(1) 001116 000000 SERRPC: .WORD 0 s sCONTAINS PC OF LAST ERROR INSTRUCTION
(1) 001120 000000 $GDADR: .WORD 0 s ;CONTAINS ADDRESS OF ‘'GOOD' DATA
(1) 001122 007000 $BDADR: .WORD 0 s sCONTAINS ADDRESS OF 'BAD' DATA
(1) 001126 000000 $GDDAT: .WORD 0 ..CONTAINS 1GOOD* DATA
(1) 001126 000000 $BDDAT: .WORD O ;CONTAINS °'BAD' DATA
(1) 001130 000000 WORD 0 ..RESERVED--NOT TO BE USED
(1) 001132 000000 WORD O
(1) 001134 000 $AUTOB: .BYTE 0 ssAUTOMATIC MODE INDICATOR
(1) 001135 000 S$INTAG: .BYTE 0 s s INTERRUPT MODE INDICATOR
(1) 001136 000000 WORD 0
(1) 881163 177570 SWR: .WORD  DSWR s sADDRESS OF SWITCH REGISTER
(1) 1142 177570 DISPLAY: .WORD DDISP s sADDRESS OF DISPLAY REGISTER
(1) 001144 177560 $TKS: 177560 ..TTY KBD STATUS
(1) 001146 177562 $TkB: 177562 sTTY KBD BUFFER
(1) 001150 177564 $TPS: 177564 ;:TTY PRINTER STATUS REG. ADDRESS
(1) 001152 177566 $TPB: 177566 s:TTY PRINTER BUFFER REG. ADDRESS
(1) 001154 000 $NULL: .BYTE 0 s sCONTAINS NULL CHARACTER FOR FILLS
(1) 001155 002 $FILLS: .BYTE 2
(1) ;CONTAINS # OF FILLER CHARACTERS REQUIRED
(1) 001156 012 $FILLC: .BYTE ié ;s INSERT FILL CHARS. AFTER A 'LINE_FEED'’
(1) 001157 000 $TPFLG: ,BYTE 0 ..'TERHINAL AVAILABLE'' FLAG (BIT<07>=0=YES)
(1) 001160 000000 $TIMES: 8 ssMAX. NUMBER OF ITERATIONS
(1) 001162 000000 $ESCAPE: ::ESCAPE ON ERROR ADDRESS
(1) 001164 177607 000377 $BELL: .ASCIZ <207><377><377> ..CODE FOR BELL
(1) 001170 077 $QUES: .ASCII sQUESTION MARK
(1) 001171 015 S$CRLF: LASCII <15> ..(ARRIAGE RETURN
(1) 001172 000012 SLF LASCIZ <12> s:LINE FEED
(2) it'.tt.ttt...'i.'.t'."'Qi"Q"...".Q.'Q"'.Q.'Qﬁ.l..'Q'Qtl."
gg; .SBTTL APT MAILBOX-ETABLE
(3) -éttott'.tt.ttt.t..t'tactntt'c.ttt'ttntnn.--n-ntt.-t'-a-nnq-a-'tn
(2) VEN
(2) 001174 SMAIL : s sAPT MAILBOX
(2) 001174 000000 $MSGTY: .WORD  AMSGTY ;;MESSAGE TYPE CODE
(2) 001176 000000 SFATAL: .WORD  AFATAL ;:FATAL ERROR NUMBER
(2) 001200 000000 S$TESTN: .WORD ATESTN ..'ES! NUMBER
(2) 001202 000000 $PASS: .WORD APASS  ;:PASS COUNT
(2) 001504 000000 $DEVCT: .WORD  ADEVCT ::DEVICE COUNT
(2) 001206 000000 $UNIT: ,.WORD  AUNIT ..lIO UNIT NUMBER
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,cnonna.p11 14=DEC~82 11:43 T MAILBOX~E TABLE SEQ 0015
() 001210 000000 $MSGAD: .WORD  AMSGAD ;;MESSAGE ADDRESS
. (2) 001212 000000 $MSGLG: .WORD  AMSGLG ::MESSAGE LENGTH
@) oonens $ETABLE: :;APT ENVIRONMENT TABLE
(@) oigie 000 SENV: .BYTE AENV_ ;:ENVIRONMENT BYTE
| (2) 001215 000 SENVM: .BYTE _ AENVM
| (@) ENVIRONNENT MODE BITS
(2) 001216 000000 $SUREG: .WORD  ASWREG ::APT SWITCH REGISTER
| (2) 001220 000000 SUSWR: .WORD  AUSWR  :iUSER SWITCHES
(2) 001222 000000 $CPUOP: .WORD  ACPUOP ::CPU_TYPE,OPTIONS
(2) i BiTs 15-115CPu_TYPE
(2 it 11/04=01,11/05=02,11/20=03,11/40=04,,11/45=05
(2) i 11/70=06,PDQ=07,0=10
(2) i BIT 10=REAL TIME CLOCK
(2) it BIT 9=FLOATING POINT PROCESSOR
(2 : v BIT 8=MEMORY MANAGEMENT
(2) 001226 000 §MAMS1: .BYTE  AMAMS1 :;HIGH ADDRESS.M.S. BYTE
(2) 001225 000 SMTYP1: .BYTE  AMTYP1 ;:MEM. TYPE,BLKNi
(2) it MEM.TYPE BYTE == (HIGH BYTE)
(2) it 900 NSEC CORE=001
(2) ;e 300 NSEC BIPOLAR=002
(2) v 500 NSEC MOS=003
(2) 001226 000000 $MADR1: .WORD  AMADR1 :sHIGH ADDRESS BLKAT e
(2) it MEM.LAST ADDR.=3 BYTES,THIS WORD AND LOW OF *‘TYPE'* ABOVE
(2) 001230 000 $MAMS2: .BYTE  AMAMS2 ;:HIGH ADDRESS,M.S. BYTE
(2) 001231 000 $MTYP2: .BYTE  AMTYP2 :MEM.TYPE,BLKN2
(2) 001232 00 SMADRZ: .WORD  AMADRZ ::MEM.LAST ADDRESS,BLK#2
(2) 001234 000 SMAMS3: .BYTE  AMAMS3 ::HIGH ADDRESS,M.S.BYTE
() Q01235 0000 SMTYP3: .BYTE  AMTYPS ::MEM.TYPE,BLKA3
(2) 001236 000000 SMADR3: .WORD  AMADR3 ::MEM.LAST ADDRESS,BLKA3
(2) 001240 000 SMAMSG: .BYTE  AMAMSL ”mmnwnsnsene
(2) 0012641 000 SMTYP4: .BYTE  AMTYP4 ::MEM.TYPE,BLKN4
(2) 001242 000000 SMADR4: .WORD  AMADRG ::MEM.LAST ADDRESS,BLK#%
(2) 001244 000210 SVECT1: .WORD AVECT1 ::INTERRUPT VECTOR#1,8US PRIORITYA1
(2) 001246 000000 $VECT2: .WORD AVECT2 ;:INTERRUPT VECTORW2BUS PRIORITY#2
(2) 001250 174600 $BASE: .WORD  ABASE
(2) :;BASE ADDRESS OF EQUIPMENT UNDER TEST
(2) 001252 000001 SDEVM: .WORD ADEVM ;:DEVICE MAP
(2) 001254 000000 $CDW1: .WORD ACDM]  ::CONTROLLER DESCRIPTION WORDA]
(2) 001256 000000 $COW2: .WORD ACDW2  :;CONTROLLER DESCRIPTION WORDA2
(2) 001260 000000 $DDW0: .WORD  ADDWO  ;:DEVICE DESCRIPTOR WORD#0
(2) 001262 000000 $DDW1: .WORD ADDW1  ::DEVICE DESCRIPTOR WORDA1
(2) 001264 000000 $DDW2: .WORD  ADDW2  ;:DEVICE DESCRIPTOR WORDA
(2) 001266 000000 $DDW3: .WORD ADDWS  ;:DEVICE DESCRIPTOR WORD#
(2) 001270 000000 $ODW4: .WORD ADDW4  ::DEVICE DESCRIPTOR WORDA4
(2) 001272 000000 $DDWS: .WORD  ADDWS  ;:DEVICE DESCRIPTOR WORDAS
(2) 001274 000000 $DDW6: .WORD  ADDWS  ;;DEVICE DESCRIPTOR WORD#$
(2) 001276 000000 $DDW7: .WORD ADDW7  :;DEVICE DESCRIPTOR WORDA?
(2) 001300 000000 $DDW8: .WORD ADDWS  ;:DEVICE DESCRIPTOR WORD#8
(2) 001302 000000 $DDW9: .WORD  ADDWY  ::DEVICE DESCRIPTOR WORDA9
(2) 001304 000000 $DDW10: .WORD  ADDWIO ::DEVICE DESCRIPTOR WORD#10
() 001306 000000 $DDW11: .WORD  ADDWI1 ::DEVICE DESCRIPTOR WORDA11
(2) 001310 000000 $DDW12: .WORD  ADDW12 ::DEVICE DESCRIPTOR WORDA1
() 001312 000000 $DDW13: .WORD ADDWI3 ;;DEVICE DESCRIPTOR WORDA1
(2) 001314 000000 $ODW14: .WORD  ADDW14 ::DEVICE DESCRIPTOR WORDA14
() 001316 000000 $DDW15: .WORD  ADDW1S ::DEVICE DESCRIPTOR WORDA15

— —— —— ——— — ————— - — " ——— ——— > — e wa w aw
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(g) 001320 SETEND:
(2)
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'MAINDEC=11=CNDRA=-A DRV11B DHA INTERFACE DIAGNOSTIC MACY11 30(15‘6) 14=DEC=82 11:44 PAGE 61=7
;CNDRAA PN 14-DEC-82 11:43 ERROR POINTER TABLE SEQ 0017

g}; .SBTTL ERROR POINTER TABLE
(1) s*THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR THAT CAN OCCUR.
(1) tTHE INFORMATION IS OBTAINED BY USING THE INDEX NUMBER FOUND IN
(1) 'LOCATION S$ITEMB. THIS NUMBER INDICATES WHICH ITEM IN THE TABLE IS PERTINENT.
(1) tNO El: IF SITEMB IS O THE ONLY PERTINENT DATA IS (SERRPC).
:}; *NOTEZ EACH ITEM IN THE TABLE CONTAINS & POINTERS EXPLAINED AS FOLLOWS:
(1) ot EM 2:POINTS TO THE ERROR MESSAGE
(1) 30 DH 2:POINTS TO THE DATA HEADER
(1) % DT 2:POINTS TO THE DATA
2}; o DF J:POINTS TO THE DATA FORMAT
(1)
(1) 001320 $ERRTB:
6074 :ERROR 1
6075 001320 014066 EM1 ;REG TIMEOUT ER
6076 001322 014757 DH1 sERRPC TSTNUM BUSADR EXPCT RCVD
6077 001324 015130 ot JSERRPC TSTNUM S$BDADR S$GDDAT $BDDAT
6078 001326 000000 0
6079
6080 :ERROR 2
6081 001330 014105 EM2 :REG READ/WRITE ER
6082 001332 014757 DH1 JERRPC TSTNUM BUSADR EXPCT RCVD
6083 001334 015130 pT1 JSERRPC TSTNUM S$SBDADR S$GDDAT $BDDAT
6084 001336 000000 0
6085
6086 ;ERROR 3
6087 001340 014127 EM3 ;BUS RESET ER
6088 001342 014757 DH1 sERRPC TSTNUM BUSADR EXPCT RCVD
6089 001344 015130 DT1 JSERRPC TSTNUM S$BDADR S$GDDAT $SBDDAT
6090 001346 000000 0
6091
6092 :ERROR &
6093 001350 014144 EMS JFNCT BITS FAILED TO SET STAT BITS
6094 001352 014757 DH1 JERRPC TSTNUM BUSADR EXPCT RCVD
6095 001354 015130 DT1 JSERRPC TSTNUM SBDADR SGDDAT $BDDAT
6096 001356 000000 0
6097
6098 ;ERROR S
6099 001360 014206 EMS JREADY INTR FAILURE
6100 001362 014757 DH1 JERRPC TSTNUM BUSADR EXPCT RCVD
6101 001364 015130 DT JSERRPC TSTNUM S$BDADR SGDDAT $SBDDAT
6102 001366 000000
6103
6104 ;ERROR 6
6105 001370 014231 EMé6 JREADY CLR OR SET ER
6106 001372 014757 DH1 ERRPC TSTNUM BUSADR EXPCT RCVD
6107 001374 015130 DT1 SERRPC TSTNUM S$BDADR $SGDDAT $BDDAT
6108 001376 000000
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'CNDRAA.P11  14=DEC=82 1 ERROR POINTER TABLE | SEQ 0018
| 6110 ;ERROR 7
6111 001400 014255 EM7 ;STATUS ER ON XFER
. 6112 001402 014757 DH1 :ERRPC  TSTNUM BUSADR EXPCT  RCVD
6113 001404 015130 DT SERRPC TSTNUM S$BDADR S$GDDAT $BDDAT
8114 001406 000000 0
6116 ;ERROR 10
6117 001410 014277 EM10 ;WORD COUNT ER ON XFER
6118 001412 014757 DH1 :ERRPC  TSTNUM BUSADR EXPCT  RCVD
6119 001414 015130 DT1 :SERRPC TSTNUM $BDADR $GDDAT SBDDAT
6120 001416 000000 0
6122 ;ERROR 11
6123 001420 014325 EM11 :BUFFER ADRS ER ON XFER
6124 001422 014757 DH1 :ERRPC TSTNUM BUSADR EXPCT  RCVD
6125 001424 015130 DT1 :SERRPC TSTNUM $BDADR $GDDAT SBDDAT
6126 001426 000000 0
6127
6128 ;ERROR 12
6129 001430 014354 EM12 ;DATA ER_FROM MEM
6130 001432 015024 DH2 :ERRPC TSTNUM BUSADR ADRS  EXPCT  RCVD
6131 001434 015144 DT2 :SERRPC TSTNUM S$BDADR $GDADR S$GDDAT S$BDDAT
6132 001436 000000 0
6133
6134 ;ERROR 13
6135 001440 014375 EM13 :DATA ER_TO MEM
6136 001442 015024 DH2 :ERRPC  TSTNUM BUSADR ADRS  EXPCT  RCVD
6137 001444 015144 DT2 SERRPC TSTNUM $BDADR $GDADR SGDDAT S$BDDAT
6138 001446 000000 0
6139
6140 ;ERROR 14
6141 001450 014414 EM14 :SINGLE CYCLE OFF DID NOT LOCK OUT CPU
6142 001452 015101 DH3 :ERRPC  TSTNUM BUSADR
6143 001454 015162 DT3 :SERRPC TSTNUM $BDADR
6144 001456 000000 0
6145
6146 :ERROR 15 _
6147 001460 014462 EM15 :SINGLE CYCLE ON_LOCKED OUT CPU
6148 001462 015101 DH3 . :ERRPC_ TSTNUM BUSADR
6149 001464 015162 DT3 SERRPC 1STNUM $BDADR
6130 001466 000000 0
6152 ;ERROR 16
6153 001470 014650 EM16 ;NEX_LOGIC ER
6154 001472 014757 DH1 :ERRPC TSTNUM BUSADR EXPCT  RCVD
6155 001474 015130 DT1 :$ERRPC TSTNUM $BDADR SGCDAT SBDDAT
6156 001476 000000 0
6158 ;ERROR 17
6159 001500 014665 EM17 ;CYCLE FAILED TO CLK DBR (IN)
6160 001502 014757 DH1 :ERRPC TSTNUM BDADR  GDDAT  BDDAT
6161 001504 015130 DT1 :$ERRPC TSTNUM $BDADR $GDDAT SBDDAT
6162 001506 000000 0
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:
;CNDRAA.P11 14-DEC-82 11:43 ERROR POINTER TABLE SEQ 0019
| 6167 :ERROR 20
| 6168 001510 014722 EM20 :DATA ER FROM 1/0 PAGE (XCSR)
| 6169 001512 015024 DM *ERRPC TSTNUM BUSADR ADRS  EXPCT  RCVD
6170 001514 015144 DT :SERRPC TSTNUM $BDADR S$GDADR $GDDAT $BDDAT
6171 001516 000000 0
6172
6173
g};g :DRV118 BUS REGISTER ADDRESS POINTERS
6176 001520 174600 DRVWCR: ABASE :WORD COUNT
6177 001522 174602 DRVBAR: ABASE+2 *BUFFER ADDRESS
6178 001524 174604 DRVCSR: ABASE +4 * COMMAND/STATUS
g}gg 001526 174606 DRVDBR: ABASE+6 :DATA BUFFER
2}%} :DRV118 VECTOR ADDRESS POINTERS
6183 001530 000210 DRVCTO:AVECT1 :READY, NEX €& INCOMPLETE DATIO VECTOR
g}gg 001532 000212 DRVCT2: AVECT142 :NEW PSW ON INTR
g}gg . :COMMON PROGRAM LOCATION(S)
6188 001534 000000 TSTNUM: 0 :CONTAINS TEST NUMBER ON ERROR
6187 001536 000001 DMAP: 1 DEVICE MAP - EA BIT SAYS TEST THAT DRV118
6190 001540 000000 CORSZ: 0 :CONTAINS 1ST NON-EXISTANT MEM ADRS
6191 001542 015316 DBUFP: DBUF *CONTAINS CURRENT 4K NPR BUFFER ADRS
6192 001544 000000 10PAGE: 0 :CONTAINS ADDRESS FOR I1/0 TRANSFERS
6193 001546 000000 KDF: 0 *IF KDF11-8
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013701

001100
001140
001100
012374

001674

000004
00174
17757
177570
177777

001750
000176
000174
000004

001202
000200

001216

001520
001250

000002
001530

001530
001244
170000

000002

000020

001142

PROGRAM STAR

.SBT
START:

H 2
. -MACY11 3G(1046)

TL PROGRAM START

14-DEC-82 11:44 PAGE 61-10
¢ SEQ 0020

.SBTTL INITIALIZE THE COMMON TAGS
s;CLEAR THE COMMON TAGS (SCMTAG) AREA

MOV
CLR
CMP
BNE
MOV
s INITIALIZE
Mov

MOV
MOV

MoV
::81T02
MOV
MOV
MoV
MOV
CLR
CLR
Move
MOV

MOV
s:SIZE FOR A
ssEQUAL TO A

648: MOV
65%: MOV
66$: MOV

67%:
START1: MOV

SETUP2: MOV

SETUP3: MOV

#SCMTAG,.R6
(R6) +
ngR.Rb : :DONE?

#STACK,SP

:sFIRST LOCATION TO BE CLEARED
ssCLEAR MEMORY LOCATION

::LOOP BACK IF NO
ssSETUP THE STACK POINTER

A FEW VECTORS
#$SCOPE,a#I0TVEC ;:IOT VECTOR FOR SCOPE ROUTINE
#PR6,3#IOTVEC+2 ;:LEVEL 6
#SERROR,a#EMTVEC :;EMT VECTOR FOR ERROR ROUTINE
#PR6,#EMNTVEC+2 ;:LEVEL 6

. WSTRAP ,3#TRAPVEC ;;TRAP VECTOR FOR TRAP CALLS
#PR6, ¥ TRAPVEC+2;LEVEL 6
#SPWRDN,a#PWRVEC ;;POWER FAILURE VECTOR
#PR6 ,a#PWURVEC+2 ;;LEVEL 6

S$TIMES ;s INITIALIZE NUMBER OF ITERATIONS
$ESCAPE :sCLEAR THE ESCAPE ON ERROR ADDRESS
#1,SERMAX :sALLOW ONE ERROR PER TEST

#.,SLPADR s INITIALIZE THE LOCP ADDRESS FOR SCOPE
#.,SLPERR ::SETUP THE ERROR LOOP ADDRESS

HARDWARE SWITCH REGISTER. IF NOT FOUND OR IT IS
*=1"', SETUP FOR A SOFTWARE SWITCH REGISTER.
@#ERRVEC,=(SP) ;;SAVE ERROR VECTOR
#64% ,@FERRVEC  ;;SET UP ERROR VECTOR

#DSWR, SWR ::SETUP FOR A HARDWARE SWICH REGISTER
#DDISP,DISPLAY ::AND A HARDWARE DISPLAY REGISTER
#=1,3SWR ::TRY TO REFERENCE HARDWARE SWR

668 ::BRANCH IF NO TIMEOUT TRAP OCCURRED

:;AND THE HARDWARE SWR IS NOT = =1
65% :;BRANCH IF NO TIMEOUT
#65%,(SP) ::SET UP FOR TRAP RETURN

#SWREG, SWP ;sPOINT TO SOF TWARE SWR
#DISPREG,DISPLAY
(SP)+ ,9#ERRVEC ;;RESTORE ERROR VECTOR

$PASS :;CLEAR PASS COUNT

#APTSIZE ,SENVM ;;TEST USER SIZE UNDER APT
67% s YES ,USE NON-APT SWITCH
#$SWREG, SWR :sNO,USE APT SWITCH REGISTER

#DRVWCR,RO :SET UP REG ADRS PCINTERS

$BASE ,R1 :GET BASE ADRS

g}.;gb)o :LOAD EM

#DRVDBR+2.R0  :ALL DONE?

SETUP?2 ‘BR IF NOT

#DRVCTO,RC *SET UP DRV11B VECTOR ADRS POINTER
$VECT1,R1 :GET BASE VECTOR ADRS

:}7?389'"1 *CLR OUT PRIORITY BITS

#2.R1 *POINT TO NEXT
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001534

177777
002142
000042
001214
001140

000001

177777
000001
015172
001546
001546
001546

000200
001540

014521

020000
002322

017777
001540
000006
015316
000000
001252
177400
000001
007674

000200
001100
001206

000001
000176

001134

001134

000131

176646

000004

001204

CORSZR :gv #20000,R0

RESTRT: MTPS #200

IC MACY11 30(1546) 14-DEC-82 11:44 PAGE 61-11
ZE THE COMMON TAGS
M

CMP #DRVCT2+2,R0 sALL DONE?
BNE SETUP3 :BR IF NOT
.SBTTL TYPE PROGRAM NAME
;:TYPE THE NAME OF THE PROGRAM IF FIRST PASS

IAGNOST
NITIALI

INC #-1 ;FIRST TIME?
BNE 643 :;BRANCH IF NO
TYPE : TYPE ASCIZ STRING

.SBTTL GET VALUE FOR SOF TWARE SUiTCH REGISTER s
TST kL2 ::A E WE RUNNING UNDER XXDP/ACT?
BNE 663 sBRANCH IF YES
CMPB SENV. M :ARE WE RUNNING UNDER APT?

BEQ 66$ s ;BRANCH IF YES
CMP SWR ,#SWREG ;:SOFTWARE SWITCH REG SELECTED?
BNE 67% s ;BRANCH IF NO
GTSHR 67% :;GET SOFT-SWR SETTINGS
gg : HOVB #1,8AUT0B ::SET AUTO-MODE INDICATOR

$
$
BR 649 :GET OVER THE ASCIZ
-255: LASCIZ <CRLF>0HD-11-CNDRA-A DRV118 DMA INTERFACE DIAG #<CRLF>

INC #-1 sFIRST PASS’

BNE 100$ *BRANCH IF
CMPB  #1,SAUTOB *MANUAL xurenvrnrxon PERMITTED?
BEQ 1008 :BR IF NO
TYPE, KDF11B *ASK ABOUT KDF11-B
RDCHR *READ ANSWER
MOV (SP) ¢+ ,KDF :STORE ANSWER
TYPE, KDF *ECHO ANSWER
CMPB KDF ,#131 :IS IT KDF11-B?
BNE 1008 *BRANCH IF NOT
BIS8 oaxror aswR :IF YES,SET SWREG
1008: TST CORSZ STEST IF FIRST PASS
BNE CORSZR *BR IF NOT
TYPE, WARN *TELL THE OPERATOR TO TURN OFF DMA REFRESH

sRkRRARRRRAAAARARARECARRCRERREAAREAAARARAAAAAAAARANAAACAAGOANCACOAES

LET S SEE HOW MUCH MEM WE HAVE

R L R R L T T e T T T
sUSE RO TO LOOK

025 SFERRVEC sSET UP TIME OUT RETURN ADRS

1$: ST RO) + sTAKE A LOOK
BR 1s SUNTIL TIMEOUT
28. BIC #17777.R0 SPOINT TO 1ST NON-EXSISTANT 4K BLK
MOV RO,CORSZ SAVE ron LATER
MOV oeaavec¢2.acsauvec TORE VECTOR
MOV coaur os FP ixAL IZE T0 LOWEST 4K
MOV SUNIT ser UP UNIT COUNT
MOV soévn DMAP :GET THE # & POSITION OF DRV11B'S
BIC 3177460 DMAP  :UP TO 8 ONLY
BEQ RESTR *GO CONTINUE AS IF SOMETHING WAS SELECTED
BIT ol.onAr *IS 1ST DRVI1B SELECTED?
BNE RESTRT :BR IF SO
JMP NXDEV1 *NO - GO ADVANCE BASE DRV11B ADDRESSES

*SET PRIORITY TO HIGHEST LEVEL
MOV #STACK,SP *ALWAYS RESET STACK PTR
MOV SUNIT,$DEVCT  :LOAD APT COUNTER

SEQ@ 0021
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(CNDRAA.P11  14=DEC-82 1 GET VALUE FOR SOFTWARE SWITCH REGISTER SEQ 0022
; 6247 002426 013700 001206 MOV SUNIT,RO iMAKE AN INDEX
| 6248 002430 006300 ASL RO UE
6249 002432 013760 001520 001260 MOV DRVWCR, $DDWO(RO) VE THE BUS ADDRESS
6250 002440 000005 RESET 1nxrxALize DRV11B BEFORE TESTING
| 6251 itttttttttt!tttttttttttttt"tttttittt'tttttttttttttttttttittttt
L) SRTEST 1 TEST THAT ALL DRV118 REGS ARE ACCESSIBLE
(3) "tttttttttttttttttttttttttttttttttttttttiittttttttittitttttttttt
8; 002442 000240 1§ST1:  <NOP>
(1) 002444 012737 002460 001106 MOV #108,SLPADR ;;SET SCOPE LOOP ADDRESS
(2) 002452 012737 000001 001200 MOV #1,$TESTN *SET TEST NUMBER IN APT MAIL BOX

6252 002460 112737 000001 001102 10$: MOVB  #1,STSTNM *SET TO TEST #1

6253 002466 012737 002522 001110 MOV #1$, SLPERR :SET UP SCOPE LOOP ADRS

62564 002474 005037 001124 CLR SGDDAT *NO DATA COMPARE

6255 002500 005037 001126 CLR $BDDAT *NO DATA COMPARE

6256 002504 012737 002540 000004 MOV #28,3#ERRVEC  :SET UP TIMEOUT RETURN ADDRS

6257 002512 013700 001520 MOV DRVWCR, RO :SET UP 1ST DRV11 BUS ADRS

6258 002516 012701 000004 MOV #4 R1 :SET UP REG COUNT

6259 002522 010037 001122 18: MOV RO, $BDADR :SET UP CURRENT DRV BUS ADRS

6260 002526 005710 TST (rRO) :SEE IF THERE

6261 002530 005720 TST (RO) + :BUMP TO NEXT

6262 002532 005301 DEC R1 :COUNT & OF THEM

6263 002534 001403 BEQ 3s :BR IF ALL DONE

6264 002536 000771 BR 1s :TRY NEXT

6265 002540 022626 28: CMP (SP)+,(SP)+ sFIX STACK SINCE NO RTI

6266 002542 104001 ERROR 1 :BUS ADRS xnochreo DID NOT RESPOND

gggg 002544 012737 000006 000004 3$: MOV #ERRVEC+2,3#ERRVEC ;RESTORE LOC &

6269 ttttttttttttttttttt'ttittttttttttttt'tt'ittttt'tt!ttti"it'ittﬁ
(3) -rssr 2 TEST THAT THE WORD COUNT REG IS WRITE/READABLE (FLOAT O COM PTRN)
(3) tttttttttttttttttttttttittttttttt'ttttttt'it'it't'ttttttltttt't
gg; 002552 000004 t812:  SCOPE

6270 002554 012737 002600 001110 MOV #1$,SLPERR :SET UP SCOPE LOOP ADRS

6271 002562 013737 001520 001122 MOV DRVWCR,$BDADR  :SET UP WC REG ADRS

6272 002570 005000 CLR RO *RO SAYS SHIFT PTRN WHEN 0

6273 002572 012737 177776 001124 MOV #=2,$GDDAT :FLOAT O RIGHT TO LEFT

6274 002600 013777 001124 176712 18: MOV $GDDAT,3DRVWCR :LD WC

6275 002606 017737 176706 001126 MOV aDRVWCR, SBDDAT nsao IT BACK

6276 002614 023737 001126 001126 CMP $GDDAT,$BDDAT  ; CORRECT?

6277 002622 001401 BEQ 2$ :BR IF SO

6278 002624 104 ERROR 2 *WORD COUNT WRITE/READ FAILURE

6279 002626 005137 001124 28: COM $GDDAT :COMPELEMENT ZERO

6280 002632 005100 COM RO ‘RO SAYS SHIFT LEFT WHEN = 0

6281 002634 001361 BNE 1% :TRY THE COMPLEMENT IF RO NOT 0

6282 002636 006337 001124 ASL SGDDAT *COMPLEMENT WAS DONE = NOW SHIFT ZERO LEFT

6283 002642 005237 001124 INC $GDDAT *KEEP LSB SET

gggg 002646 103754 BCS 1$ :AGAIN TILL ALL PATRNS DONE

6286 ttttttttttttttttttttttQ't"ititttttt'tttttt.Qt!tttt!'itttt't.t'
(3) LTEST 3 TEST THAT THE BUFFER ADDRESS REG IS WRITE/READABLE (FLOAT O COM PTRN)
(3) R 2223323233333 333323233233333333331333333333333333333333333333333313]
55; 002650 000004 t813:  SCOPE

6287 002652 012737 002676 001110 MOV #18,SLPERR :SET UP SCOPE LOOP ADRS

6288 002660 013737 001522 001122 MOV DRVBAR,SBDADR  :SET UP BA REG ADRS
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| CNDRAA P11 14-DEC-82 11:43 T TEST THAT THE BUFFER ADDRESS REG IS WRITE/READABLE (FLOAT 0 COM PTRN) SEQ 0023

| 6289 002666 005000 CLR RO :RO SAYS SHIFT PTRN WHEN 0
| 6290 002670 012737 177774 001 MOV #=4,SGDDAT :FLOAT O RIGHT TO LEFT
| 6291 002676 013777 001124 176 1$: MOV SGDDAVﬁiDRVBAR

124
616 ;LD BA

6292 002704 017737 176612 001}%2 MoV aDRVBAR,$BDDAT ;READ IT BACK
126

6293 002712 042737 000001 001 BIC #B1T00,$BDDAT  :DON'T WANT BITOO
629 002720 023737 001124 001 CMP $GDDAT,$BDDAT  ;CORRECT?
6295 002726 001401 BEQ 2% :BR IF SO
| 6296 002730 104002 ERROR 2 :BUS ADRS WRITE/READ FAILURE
6297 002732 005137 001124 28: CoM $GDDAT : COMPLEMENT ZERO
6298 002736 042737 000001 001124 BIC #81T00,$GDDAT  :BIT 00 NOT INVOLVED
6299 002744 005100 COM RO :RO SAYS SHIFT LEFT WHEN = 0
6300 002746 001353 BNE 18 ;TRY THE COMPLEMENT IF RO NOT 0
6301 002750 006337 001124 ASL $GDDAT :COMPLEMENT WAS DONE = NOW SHIFT ZERO LEFT
6302 002754 103004 BCC TST4 : sNEXT TEST IF BIT 15 DONE
6303 002756 062737 000002 001124 ADD #2,SGDDAT :KEEP ADDR LSB SET
gggg 002764 000744 BR 1% :AGAIN TILL ALL PATTERNS DONE
6306 :;tttttttttttttttttttttttttttttttttttttttttttitttttttttttltt'it't
(3) s*TEST & TEST THAT THE DATA BUFFER REG IS WRITE/READABLE (FLOAT 0 COM PTRN)
(3) :; 2223223323 333333323333323 3332333333333 3333333233233333333323332323323]
gg; 002766 000004 TST4:  SCOPE
6307 002770 012737 003014 001110 MOV #1$,SLPERR ;SET UP SCOPE LOOP ADRS
6308 002776 013737 001526 001122 MOV DRVDBR,$BDADR  :SET UP DB REG ADRS
6309 003004 005000 CLR RO *RO SAYS SHIFT PTRN WHEN 0
6310 003006 012737 177776 001124 MOV #-2,$GDDAT *FLOAT 0 RIGHT TO LEFT
6311 003014 013777 001124 176504 18: MOV $GDDAT,aDRVOBR :LD DB
6312 003022 017737 176500 001126 MOV aDRVDBR,$BDDAT :READ IT BACK
6313 003030 023737 001124 001126 CMP $GDDAT,$BDDAT  :CORRECT?
6314 003036 001401 BEQ 28 :BR IF SO
6315 003040 104002 ERROR 2 *DATA BUFFER WRITE/READ FAILURE (LOOP BACK)
6316 003042 005137 001124 28: coM $GDDAT : COMPLEMENT ZERO
6317 003046 005100 COM RO ‘RO SAYS SHIFT LEFT WHEN = 0
6318 003050 001361 BNE 1$ *TRY THE COMPLEMENT IF RO NOT 0
6319 003052 006337 001124 ASL $GDDAT :COMPLEMENT WAS DONE = NOW SHIFT ZERO LEFT
6320 003056 005237 001124 INC SGDDAT :KEEP LSB SET
ggg; 003062 103754 BCS 1 :AGAIN TILL ALL PATRNS DONE
6323 I RN RN RN RN TR E AR RRNA AR RAAARAARCAACRACT R AT CROO
(3) S*TEST § TEST THAT THE DATA BUFFER REG IS BYTE ADDRESSABLE
(3) 22 1 23382333333 333323333233323333333333333333333333333333333233333333]
55; 003064 000004 TSTS:  SCOPE
6324 003066 013700 001526 MOV DRVDBR, RO :GET DB REG ADRS
6325 003072 010037 001122 MOV RO, $BDADR :SET UP DB REG ADRS
6326 003076 005010 CLR (rO) :ZERO DATA BUFFER REG
6327 003100 012737 177177 001124 MOV #177177,$GDDAT :LD EXPECTED
6328 003106 012737 077776 001126 MOV #77776,$BDDAT  :SEND DATA FROM "BDDAT''
6329 003114 153760 001126 000001 BISB  $BDDAT.1(RO)  :LOAD HI BYTE DB
6330 003122 153710 001127 BISB  $BDDAT+1,(RO) :LOAD LO BYTE DB
6331 003126 011037 001126 MOV (RO) , SBDDAT *READ IT BACK
6332 003132 023737 001124 001126 CMP $GDDAT,$BDDAT  :CORRECT?
6333 003140 001401 BEQ 1516 S:NEXT TEST IF SO
2;;; 003142 104002 ERROR 2 :DATA ERROR ON BYTE ADDRESSING THE DATA BUFFER REG
6336 ::tttttttttitttttttttttitt't'tt'ittttttt‘lt'!tlt!tt!ttt!l'tltti't'
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]CNDRAA P11 14=DEC-82 11:43 16 TEST THAT RESET CLEARS WORD COUNT, BUS ADDRESS & DATA REGS SEQ 0024
() ;+TEST 6 TEST THAT RESET CLEARS WORD COUNT, BUS ADDRESS & DATA REGS
| (3) 2333333332323 2333332323332333333333333331333323333332333333333331333331
; {5; 003144 000004 t476:  SCOPE
(1) 003146 012737 000010 001160 MOV 210, stxnes ::D0 10 ITERATIONS
6337 003156 005037 001124 CLR $GDDAT :LD EXPECTED
6338 003160 012777 177777 176332 MOV #-1,aDRVWCR SSET ALL BITS = WC REG
6339 003166 012777 177776 176326 MOV #-2.3DRVBAR :SET ALL BITS = BUS ADRS REG
6340 003174 012777 177777 176324 MOV #-1.3DRVDBR *SET ALL BITS = DB OUT REG
6341 003202 000005 RESET :D0 A BUS RESET
6342 003204 017737 176310 001126 MOV aDRVWCR,$BDDAT :READ WC REG
6343 003212 001404 BEQ 1$ :BR IF CLRED
6344 003214 013737 001520 001122 MOV DRVWCR,$BDADR  :SET UP WC REG ADRS
6345 003222 104003 ERROR 3 *RESET FAILED TO CLR WC REG
6346 003224 017737 176272 001126 18: MOV aDRVBAR, $BDDAT :READ BUS ADRS REG
6347 003232 042737 000001 001126 BIC #BIT00,$BDDAT  :DON'T WANT BITTO0
6348 003240 001404 BEQ 28 *BR IF CLRED
6349 003242 013737 001522 001122 MOV DRVBAR,$BDADR  :SET UP BA REG ADRS
6350 003250 104003 ERROR 3 *RESET FAILED TO CLR BUS ADRS REG
6351 003252 017737 176250 001126 2$: MOV aDRVDBR, $BDDAT -READ DATA BUFFER REG
6352 003260 001404 BEQ TST? :NEXT TEST IF CLRED
6353 003262 013737 001526 001122 MOV DRVDBR,SBDADR  -SET UP DB REG ADRS
g§§§ 003270 104003 ERROR 3 :RESET FAILED TO CLR DATA BUFFER OUT REG
6356 ittttttttttttttt'tttttt.tttitttttttttttittttitttttttttttttttttt
(3) 'TEST 7 TEST THAT THE CONTROL/STATUS REG IS WRITE/READABLE (COUNT PTRN)
(3) tttitttttttttttttitttit.ttttttttt.ttt.ttttttttttitttttitttttttt
55; 003272 000004 t817:  SCOPE
(1) 003274 012737 000010 001160 MOV #10,$TIMES ::D0 10 ITERATIONS
6357 003302 106427 000200 MTPS  #200 :DON'T WANT ANY INTRS
6358 003306 004537 010112 JSR RS, SETVEC *SET UP INTR RETURN ADRS IN CASE
6359 003312 003410 3 :RETURN TO 3$ ON ILLEGAL INTR
6360 003314 013737 003334 001110 MOV 18, SLPERR :SET UP SCOPE LOOP ADRS
6361 003322 013737 001524 001122 MOV DRVCSR,$BDADR  :SET UP CSR ADRS
003330 012700 160000 MOV 60006 o :START AT 0 = HI BITS FOR NOISE
6363 003334 010037 001124 18: MOV LD EXPECTED
6364 003340 062737 167201 001124 BIC o167zo1 scooAr °HASK T0 WRITEABLE BITS
6365 003346 C10077 176152 MOV RO,aDRVCS D CSR
6366 003352 017737 176146 001126 MOV aonvcsn sBDDAT 'READ IT BACK
6367 003360 042737 007200 001126 BIC #7200,$80DAT  :DON'T LOOK AT STAT & RDY BITS
6368 003366 023737 001124 001126 CMP $GDDAT,$BODAT  :CORRECT?
6369 003374 001401 BEQ 28 :BR IF SO
6370 003376 104002 ERROR 2 *CONTROL/STATUS REG WRITE/READ FAILURE
6371 003400 062700 000002 28: ADD cz.ao :ADVANCE COUNT PATTERN
6372 003404 001353 BNE :WRITE NEXT PATTERN IF NOT ALL TESTED
6373 003406 000413 BR 4: ‘GO RESTORE VECTOR
6374 003410 022626 38: CMP (SP)+, (SP)+ SFIX STACK = SHOULD NOT HAVE INTR'ED
6375 003412 052737 000200 001124 BIS #200, $GDDAT *CORRECT EXPECTED
6376 003420 017737 176100 001126 MOV aDRVESR, $BDDAT  READ CSR
6377 003426 042737 007000 001126 BIC #7000,$BDDAT  :DON'T WANT °STAT® BITS
6378 003434 104005 ERROR § :CPU FAILED TO LOCK OUT DRV118 INTR REQ
2;;3 003436 004737 010132 48: JSR PC,RSTVEC *GO RESTORE VECTOR
6381 tttttttttttttttttiittwttittttttttltttttttttltitttttttttttitt.ti
(3) SSTEST 10 TEST THAT RESET CLEARS ALL WRITEABLE BITS & SET READY IN CSR
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/MAINDEC=11=CNDRA=A DRV11B DMA INTERFACE DIA
CNDRAA.P11 14-DEC-82 11:43 T10 TEST THAT RESET CLEARS ALL WRITEABLE BITS & SET READY IN CSR SEQ 0025

(3) ' ':!tttttttttttttit'ttt"tttt'ttttttttttttttt'ttQtttttt'itttt...t'
gg; 003442 000004 T§T10: SCOPE
(1) 003444 012737 000010 001160 MOV #10,$TIMES ;:D0 10 ITERATIONS
6382 003452 013737 001524 001122 MOV DRVCSR,$BDADR  ;SET UP (SR ADRS
6383 003460 012737 000200 001124 MOV #200, $GDDAT ;LD EXPECTED
6384 003466 012777 177776 176030 MOV #-2,3DRVCSR :LD ALL CSR BITS
6385 003474 000005 RESET :D0 A BUS RESET
6386 003476 017737 176022 001126 MOV aDRVCSR,$BODAT :READ CSR
6387 003504 023737 001124 001126 CMP $GDDAT,$BDDAT  :CORRECT?
6388 003512 001401 BEQ TST11 :INEXT TEST IF CSR CLRED & READY SET
gggg 003514 104003 ERROR 3 *RESET FAILED TO SET UP THE CSR
6391 ::t*tttttttttt*ttt!'ittt'tti'ttit'tttttttQttttttttttttttt'ttttt"
(3) ‘ S*TEST 11 TEST THAT THE CSR IS BYTE ADDRESSABLE
(3) ::ttttttti*Qtttt‘tttttttttttitttttititttttlttttttttttittt't*'tit'
553 003516 000004 7ST11: SCOPE
6392 003520 013700 001524 MOV DRVCSR,RO :GET CSR ADRS
6393 003524 010037 001122 MOV RO, $BDADR :SET UP CSR ADRS
6394 003530 005010 CLR (RO) :2ERO CSR
6395 003532 012737 010300 001124 MOV #10300,8GDDAT  :LD EXPECTED
6396 003540 012737 040020 001126 MOV #40020 $BDDAT  :SEND DATA FROM "BDDAT'* = USE MAIN + IE
6397 003546 153760 001126 000001 BISB  S$BDDAT.1(RO)  :LOAD HI BYTE CSR
6398 003554 153710 001127 BIS3  $BDDAT+1,(RO) :LOAD LO BYTE CSR
6399 003560 011037 001126 MOV (RO) ,$BDDAT :READ IT BACK
6400 003564 023737 001124 001126 CMP $GDDAT,$BODAT  :CORRECT?
6401 003572 001401 BEQ 1$ :BR IF SO
6402 003574 104002 ERROR 2 :DATA ERROR ON BYTE ADDRESSING THE CSR
2282 003576 005010 18: CLR (RO) :ZERO CSR BEFORE ADVANCING
6405 | ;;tttttittttttttttttttttittttttttttittttittttittttttttitttittttit .
(3) © S*TEST 12 TEST THAT THE 3 "FNCT'* BITS CONTROL THE 3 '‘STAT'* BITS (COUNT PTRN)
(3) :;tttttttttttttttttttttttttttttttttttiitttttttttttttttttttttttttt
gg 003600 000004 T§T12: SCOPE :
06 003602 012737 003630 001110 MOV #18, SLPERR :SET UP SCOPE LOOP ADRS
6407 003610 013737 001524 001122 MOV DRVCSR,$BDADR  :SET UP CSR ADRS
6408 003616 012737 007000 001124 MOV #7000,$GDDAT  :LD EXPECTED
6409 003624 012700 000016 MOV #16,R0 *RO CONTAINS "FNCT'* BITS WRITTEN
6410 003630 010077 175670 1$: MOV RO,3DRVCSR :WRITE INTO "FNCT'* BITS
6411 003634 017737 175664 001126 MOV aDRVCSR,$BDDAT :READ BACK THRU ‘‘STAT'' BITS
6412 003642 042737 170777 001126 BIC #170777.$BDDAT :MASK TO ‘‘STAT'' BITS ONLY
6413 003650 023737 001124 001126 CMP $GDDAT,$BDDAT  : CORRECT?
6414 003656 001401 BEQ 2$ :BR IF SO
6415 003660 104004 ERROR 4 SYENCT'* BITS FAILEC TO SET *‘STAT'' BITS (LOOP BACK)
6416 003662 162737 001000 001124 2%: SUB #1000,8GDDAT  :CHANGE TO NEXT EXPECTED
6417 003670 162700 000002 SUB #2,R0 *DECREASE COUNT PATTERN
' 22}8 003674 100355 BPL 1$ :D0 AGAIN UNTIL O TESTED
6420 ::Ittttttttttttt.ttittttttttttttt"titi.tttﬁitit..ttttitttttttiti
(3) T*TEST 13 TEST THAT READY SET WILL CAUSE AN INTERRUPT AT LEVEL 0
(3) ':ttttttttttttttttttittttttttttitttttttittitttttttttttttitittittt
53; 003676 000004 TST13: SCOPE
(1) 003700 012737 000010 001160 MOV #10,8TIMES ::D0 10 ITERATIONS
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MTPS
RESET
MOV
MOV
MOV
MTPS
CMP
MOV
8IS
CMP
MOV
ERROR
BR
1%: cMP
MOV
ERROR
BR
2%: CMP
MOV
CMP
BEQ
ERROR
3%: JSR

A
3 TEST THAT READY SET W

N 2
MACY11 30(1046) 14<DEC-82 11:44 PAGE 61-16
ILL CAUSE AN INTERRUPT AT LEVEL 0

#200 ;DONT _WANT INTR YET
sSET THE READY FLAG BY INIT

#1$,3DRVCTO :SET UP PREMATURE INTR RETURN ADRS
DRVCSR,$BDADR  ;SET UP CSR ADRS

#300,$GODAT :LD EXPECTED (READY + IE)

#0 sALLOW AN INTR

(SP), (SP) sSTALL

#2$ ,aDRVCTO :SET UP EXPECTED INTR RETURN ADRS
#81T76,a0RVCSR  ;ENABLE THE EXPECTED INTERRUPT

(SP), (SP) sSTALL

@aDRVCSR,$BDDAT ;GET THE CSR

5 sREADY FAILED TO CAUSE AN INTERRUPT
38 ;GO RESTORE VECTOR

(SP)+,(SP)+ sSHOULD NEVER GET HERE = IE NOT WORKING?
@aDRVCSR,$BDDAT ;GET THE CSR

p] sREADY INTERRUPTED WITHOUT THE IE BIT
3s +GO RESTORE VECTOR

(SP)+,(SP)+ *FIX STACK SINCE NO RETURN
aDRVCSR,$BDDAT :READ STATUS

$GDDAT,$BDDAT  :CORRECT?

3s :BR IF SO

5 :INCORRECT STATUS ON READY INTR

PC.RSTVEC sGO RESTORE VECTOR

sekhARAAAAAAAAAAAAAREEACRAOARRAAARAAAAA A AR AR ARk

SRTEST 14

TEST THAT GO CLRS READY & FNCT 2 WILL SET IT

sokththhkA At AAAAACEIEITARAORSOCOORERAARARAAAAA A ARk

7ST14: SCOPE
MTPS

MOV
CLR

1$: BIS

BEQ
ERROR

#200 sDONT WANT ANY INTRS
DRVCSR,$BDADR  ;SET UP CSR ADRS

S$GDDAT sEXPECT 0

#1,3DRVCSR +SET GO WHICH SHOU.D CLR READY

@DRVCSR,$BDDAT ;READ THE CSR

$GDDAT,$BDDAT  :CORRECT?

18 :BR IF SO

4 :THE GO BIT FAILED TO CLR READY

#4 ,aDRVCSR SFNCT 2 SHOULD SET READY

#2204 ,8GDDAT LD EXPECTED

aDRVCSR,$BDDAT :GET CSR

$GDDAT,$BDDAT  :CORRECT?

TST15 :sNEXT TEST IF SET

6 SENCT 2 (VIA ATTN) FAILED TO SET READY

R A AR AR R TR R AR R AR AR A AR AR AR AR RS

SRTEST 15

TEST THAT READY CONTROLS ‘'BAR' BITCO

trktRRAARRAAARAAAANASAEAARAOARESAORAOEARAAANAAARARAAAARAAREA AR AR AR en

TST15: SCOPE

MOV
MoV
MOV
CLR
MOV
CMP
BEQ

#4 ,aDRVCSR sSET READY
DRVBAR,$BDADR  ;SET UP BAR ADRS
#1,9GDDAT

sEXPECT LSB OF BAR
aDRVBAR ;CLR BAR

*CLR BA
aDRVBAR,SBDDAT :READ BAR
$GDDAT,$BODAT  :CORRECT?
1$ :BR IF SO

SEQ 0026
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I’
4 ICNDRAA.P11 14-DEC-82 11:43 TEST THAT READY CONTROLS °"BAR® BIT00 SEQ 0027
| 6469 ooasoe 10‘00; ERROR 2 :A00 FAILED TO READ A ONE(SB TIED TO RDY)
| 6670 004210 012777 000001 175306 18: MOV #1,3DRVCSR :SET GO(CLRS BAR BIT00)
6471 ooagle 017737 175300 001126 MOV aDRVBAR,$BDDAT :READ BAR
6472 004226 001403 BEQ 2s :BR IF ZERO
6473 004226 005037 001124 CLR $SGDDAT *EXPECTED ZERO
6474 00423 10&00; ERROR 2 *WHEN RDY CLRED-AOO FAILED TO READ A ZERO
g:;s 004234 012777 000004 175262 2%: MOV #4,3DRVCSR :INSURE RDY SET BEFORE ADVANCING
6‘7 ;:tttttﬁtttt.Qttttt'tttttttt'ti"ttt'tt.tttttttttttti'tt'ttttttt.
(3) S+TEST 16 TEST THAT *CYCLE® WILL CLOCK THE DBR CIN)
(3) 22 1 3333333232232 2 3232123332222 3332328323 33333333223 3323232232232
gg; 004242 000004 T§T16: SCOPE
6478 004244 013737 001526 001152 MOV DRVDBR,$BDADR  :SET UP DBR ADRS
6479 004252 012737 125252 001124 MOV #125252,8GDDAT :LD EXPECTED
6480 004260 013777 001124 175240 MOV $GDDAT,aDRVDBR :LD DBR WITH #125252
6481 006266 012777 000400 175230 MOV #400,80RVCSR  :SET CYCLE = SHOULD CLK DBR (IN)
6482 0042764 012777 052525 175224 MOV #52525,3DRVDBR  : CHANGE DBR (OUT) DATA = SHOULD NOT AFFECT CIN)
6483 004302 017737 175220 001126 MOV aDRVDBR,$BDDAT :READ DBR
6484 004310 023737 0011264 001126 CMP $GDDAT,$BDDAT  : CORRECT?
6485 004316 001401 BEQ 18 :BR IF SO
6486 004320 104017 ERROR 17 :CYCLE DID NOT LATCH DBR (IN) DATA
6487 004322 042777 000400 175174 1%: BIC #400,30RVCSR  :REMOVE CYCLE
6488 004330 012737 052525 001124 MOV #52555,$GDDAT  :NOW EXPECT #52525
6489 004336 017737 175164 001126 MOV aDRVDBR,$BODAT :READ DBR
6490 004344 023737 0011264 001126 CMP $GDDAT,$BDDAT  : CORRECT?
6491 004352 001401 BEQ IST17 : sNEXT TEST IF SO
ﬁg 004354 104002 ERROR 2 :DBR FAILED TO READ WHEN CYCLE CLRED (NORMAL)
“9‘ ;;tt"tﬁtittQt'ﬁttttt'ttit'it."ttt'ti..ttttttitttit.t.ttitttttt'
(3) SeTEST 17 TEST SINGLE 'DATI'* NPR TRANSFERS (FLOATING O COMPLEMENT PATRN)
(%) JiRRRRRRRNRRRANERAREENTRR RN RRRNERNAARRAARRAARNRAARRARNRRARACERAORS
55; 004356 000004 $ST17:  SCOPE
6495 004360 012737 004402 001110 MOV #18,SLPERR :SET UP SCOPE LOOP ADRS
96 004366 004537 010112 JSR RS, SETVEC 16O SET UP INTERRUPT RETURN
6497 004372 004476 28 :RETURN TO 28 ON INTR
6498 004374 012700 177776 MOV #-2.R0 :FLOAT ZERO RIGHT TO LEFT
6499 004400 005001 CLR R1 :R1 CONTROLS DATA SHIFTING
6500 004402 012777 177777 175110 1%: MOV #-1,3DRVWCR :D0 ONE XFER
6501 004410 012777 015316 175104 MOV #DBUF ,aDRVBAR  :GET DATA WORD FROM °‘‘DBUF'’
6502 004416 010037 015316 MOV RO, DBUF :SET UP MEM DATA
6503 004422 012777 000101 175074 MOV #101,30RVCSR  :SET IE & GO
6504 004430 052777 000400 175066 BIS #400,3DRVCSR  :SET CYCLE
6505 0044 1og4§7 000000 MTPS  #0 :ENABLE THE INTR
506 004442 013737 001524 001122 MOV DRVCSR,$BDADR  :SET UP CSR ADRS
6507 004450 012737 000700 001124 MOV #700, $GDDAT ‘LD EXPECTED
6508 004456 017737 175042 0011 g MOV aDRVCSR,$BDDAT :READ THE CSR
6509 006694 042777 000100 1750 BIC #100,3DRVCSR  :CLR IE
6510 004472 104005 ERROR S ‘WCO FAILED TO INTERRUPT (CHECK FOR WCO)
6511 004474 000442 BR 48 260 RESTORE VECTOR
651§ 004476 ozzsgg 28: CMP (SP)+,(SP)+ :INTR RETURNS HERE = FIX STACK SINCE NO RTI
6513 004500 004537 010156 JSR R5,CKSTAT :GO CHECK STATUS
6514 882504 000700 700 :CSR STATUS EXPECTED
6515 506 000001 1 - ‘# OF XFERS
6516 004510 104007 ERROR 7 :RETURN HERE IF STATUS ER = EXPECTED CYCLE. READY & IE
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'CNDRAA.P11  14=DEC=-82 11:43 T17 TEST SINGLE 'DATI'* NPR TRANSFERS (FLOATING O COMPLEMENT PATRN) SEQ 0028
6517 004512 000433 BR 4 ;G0 RESTORE VECTOR
6518 004514 104010 ERROR 10 SRETURN MERE IF WC ER = EXPECTED 0
6519 004516 000431 BR 4$ :G0 RESTORE VECTOR
6520 ooasso 104011 ERROR 11 CRETURN HERE IF BAR ER = SHOULD = DBUF+2
6521 004522 ooo«gr BR 4 26O RESTORE VECTOR
652 004554 012737 015316 001120 MOV #DBUF ,$GDADR  :RETURN MERE IF OK = SET UP XFER ADRS
6523 004532 010037 001124 MOV RO, SGODAT :LD EXPECTED
6524 004536 017737 174764 001126 MOV aDRVDBR,$BODAT :READ DATA XFERED
6525 004544 023737 001126 001126 CMP $GDDAT,$BDDAT  ; CORRECT?
6526 004552 001405 BEQ 3% :BR IF SO
6527 004554 013737 001526 001122 MOV DRVDBR,$BDADR  :SET UP DBR ADRS
6528 004562 104012 ERROR 12 :DATA ER - DBR CONTAINS WRONG DATA
6529 004564 000406 BR 4 :GO RESTORE VECTOR
6530 004566 005100 38: COM RO *RETURN HERE ON GOOD DATA = NOW COM PATRN
6531 004570 005101 COM R1 *KEEP TRACK OF COMPLEMENT
6532 004572 001303 BNE 1$ ‘DO COMPLEMENT OF THIS FLOATING ZERO IF 0
6533 004574 006300 ASL RO ‘WAS DONE = NOW SHIFT ZERO LEFT
534 004576 005200 INC RO *KEEP LSB SET
6535 004500 10370C BCS 1$ *AGAIN TILL ZERO BIT IN CARRY
2339 004602 004737 010132 48: JSR PC,RSTVEC *GO RESTORE VECTOR
6538 ;:t.t'!tttt'tttQtﬁ‘t"t't'iii'i't.'ii‘.ittl.tlitttt.tttttt'ttttttt'
(3) S*TEST 20 TEST SINGLE 'DATO'* NPR TRANSFERS (FLOATING O COMPLEMENT PATRN)
(3) > 222222222333 333323 3323323333233 23333333333333333 2333333333333 323232333]
gg; 004606 000004 1§720: SCOPE
6539 004610 012737 004632 001110 MOV #18,SLPERR ;SET UP SCOPE LOOP ADRS
6540 004616 004537 010112 JSR RS, SETVEC 260 SET UP INTERRUPT RETURN
6541 004622 004720 28 *RETURN TO 28 ON INTR
6542 004624 012700 177776 MOV #-2,R0 *FLOAT ZERO RIGHT TO LEFT
6543 004630 005001 CLR R1 *R1 CONTROLS DATA SHIFTING
6544 004632 012777 177777 174660 18: MOV #-1,3DRVWCR :D0 ONE XFER sl
6545 004640 012777 015316 1746564 MOV #DBUF ,aDRVBAR  :WRITE DATA WORD TO ‘‘DBUF
6546 004646 010077 174654 MOV RO,aDRVDBR SSET UP DATA IN DBR
6547 004652 012777 000103 174644 MOV #103,3DRVCSR  :SET IE, GO & FNCT1 (C1 CONTROL)
6548 004660 052777 000400 174636 BIS #400.3DRVCSR  :SET CYCLE
6549 004666 106427 000000 MTPS  #0 :ENABLE THE INTR
6550 004672 013737 001524 001122 MOV DRVCSR,$BDADR  :SET UP CSR ADRS
6551 004700 012737 001702 001124 MOV #1702,$GDDAT ;LD EXPECTED
6552 004706 017737 174612 001126 MOV aDRVCSR,$BODAT :READ THE CSR
6553 004714 104005 ERROR 5 *WCO FAILED TO INTERRUPT (CHECK FOR WCO)
6554 004716 000442 B8R 48 :GO RESTORE VECTOR
6555 004720 022626 28: CMP (SP)+,(SP)+ “INTR RETURNS HERE = FIX STACK SINCE NO RTI
6556 004722 004537 010156 JSR R5,CKSTAT 160 CHECK STATUS
6557 004726 001702 1702 :CSR STATUS EXPECTED
6558 004730 000001 1 ‘4 OF XFERS
6559 004732 104007 ERROR 7 *RETURN HERE IF STATUS ER = EXPECTED STAT C.
6560 *CYCLE, READY, IE & FNCT 1
6561 004734 000433 R 48 160 RESTORE VECTOR
6562 004736 104010 ERROR 10 *RETURN HERE IF WC ER = EXPECTED 0
6563 004740 000431 R 48 $GO RESTORE VECTOR
6564 004742 104011 ERROR 11 *RETURN HERE IF BAR ER = SHOULD = DBUF+2
6565 004744 ooo4§7 BR 4 :GO RESTORE VECTOR
6 004746 012737 015316 001120 MOV #DBUF ,$GDADR  :RETURN HERE IF OK = SET UP XFER ADRS
6567 004754 010037 001124 MOV RO, $GODAT ‘LD EXPECTED
6568 004760 013737 015316 001126 MOV DBUF ,$BDDAT *GET DATA XFERED
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CNDRAA.P11 14-DEC-82 11:43 120 TEST SINGLE ‘'DATO'* NPR TRANSFERS (FLOATING O COMPLEMENT PATRN) SEQ@ 0029
6569 004766 023737 001126 001126 CMP $GDDAT ,$BDDAT  ;CORRECT?
6570 004774 001405 BEQ 3% sBR IF SO
! 6571 004776 013737 001526 001122 MOV DRVDBR,$BDADR  ;SET UP DBR ADRS
6572 005004 104013 ERROR 13 :DATA ER = MEM CONTAINS WRONG DATA
6573 005 000406 BR 4% G0 RESTORE VECTOR
6576 005010 005100 3s: COM RO :RETURN HERE ON GOOD DATA = NOW COM PATRN
6575 005012 005101 COM R1 sKEEP TRACK OF COMPLEMENT
| 6576 005014 001306 BNE 1% :DO COMPLEMENT OF THIS FLOATING ZERO IF 0
6577 005016 006300 ASL RO :COMPLEMENT WAS DONE = NOW SHIFT ZERO LEFT
6578 005020 005200 INC RO sKEEP LSB SET
6579 005022 103703 8CS 1% sAGAIN TILL ZERO BIT IN CARRY
ggg? 005024 004737 010132 4$: JSR PC,RSTVEC 3GO RESTORE VECTOR
6582 IR RRRRP AR RN AR RN AR R AR ARAAA AR A AR AR C R AR IR AT RRO TN
(3) +*TEST 21 TEST 200 'DATI'* NPR TRANSFERS (BURST MODE)
(%) R L e A A A e A bl
:5; 005030 000004 TST21: SCOPE
(1) 005032 012737 000010 001160 MOV #10,8TIMES ::D0 10 ITERATIONS
6583 005040 004537 010112 JSR RS,SETVEC :GO SET UP INTERRUPT RETURN
6584 005044 005142 1$ sRETURN TO 1% ON INTR
6585 005046 004737 010336 JSR PC,LDBUF :GO LOAD PUFFER WITH COMPLEMENTING PATRN
6586 005052 012777 177470 174440 MOV l-éOO..aDRVHCR sLOAD WC KEG = WILL DO 200 XFERS
6587 005060 012777 015316 174434 MOV #DBUF ,aDRVBAR  ;SET UP CURRENT ADRS
S88 005066 106427 000000 MTPS #0 :ENABLE THE INTR
6589 005072 012777 000101 174424 MOV #101,3DRVCSR sSET IE & GO
6590 005100 052777 000400 174416 BIS #400,aDRVCSR +SET CYCLE
6591 005106 0137;7 001524 001122 MOV DRVCSR,$BDADR  ;SET UP CSR ADRS
6592 005114 012737 000700 001124 MOV l?OO.SéDDAT sLD EXPECTED
6593 005122 017737 174376 001126 MOV aDRVCSR,$BODAT ;READ THE CSR
6594 005130 042777 000100 174366 BIC #100,aDRVCSR sCLR INTR ENABLE
6595 005136 104005 ERROR 5 sWCO FAILED TO INTERRUPT (SNGL CYCL ON COULD CAUSE THIS)
6596 005140 000434 BR 2$ :GO RESTORE VECTOR
6597 005142 022626 1$: CMP (SP)+,(SP)+ sINTR RETURNS HERE = FIX STACK SINCE NO RTI
6598 005144 004537 010156 JSR R5.CKSTAT ;GO CHECK STATUS
6599 005150 000700 700 sCSR STATUS EXPECTED
6600 005152 000310 200. :# OF XFERS
6601 0051564 104007 ERROR 7 sRETURN HERE IF STATUS ER = EXPECTED CYCLE, READY & IE
6602 005156 000425 R 2% :GO RESTORE VECTOR
6603 005160 104010 ERROR 10 :RETURN HERE IF WC ER - EXPECTED 0
6604 005162 000423 BR 2% GO RESTORE VECTOR
6605 005164 104011 ERROR 11 :RETURN HERE IF BAR ER = SHOULD = DBUF +620
6606 005166 000451 BR 2% G0 RESTORE VECTOR
6607 005170 012737 016134 001120 MOV #DBUF +616,8GDADR :0K = SET UP LAST XFER ADRS WHERE #70707 SHOULD BE
6608 005176 012737 070707 001124 MOV #70707 ,$GDDAT ;LD EXPECTED
6609 005204 017737 174316 001126 MOV aDRVDBR,$BDDAT ;DBR SHOULD HAVE LAST DATUM
6610 005212 023737 001124 001126 CMP $GDDAT.fBDDAT sCORRECT?
6611 005220 001404 BEQ 2% :BR IF SO
661§ 005222 013737 001526 001122 MOV DRVDBR,$BDADR  ;SET UP DBR ADRS
6613 005230 104012 ERROR 12 sDATA ER = DBR DID NOT CONTAIN EXPECTED LAST XFER
gg}g 005232 004737 010132 2$: JSR PC,RSTVEC :GO RESTORE VECTOR
6616 R R AR A AR L L L A L A L A A A i dd it dbiedeieiibiiuintdebiobedednbihiddd b
(3) J*TEST 22 TEST 200 ''DATO'* NPR TRANSFERS (BURST MODE)
(%) R T L L L L LR R AL
(2) 005236 000004 t§122: SCOPE
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'CNDRAA.P11  14=DEC-82 1 TEST 200 'DATO'* NPR TRANSFERS (BURST MODE) SEQ 0030
YY)
(1) 005240 012737 000013 001160 MOV #10,$TIMES ::D0 10 ITERATIONS
6617 005246 004537 01011 JSR RS, SETVEC :G0 SET UP xnrsnnupr nsruan
. 6618 005252 005352 1% *RETURN TO 18 ON INT
6619 0052564 012777 177470 174236 MOV #-200. ,3DRVWCR wmownm-uutmzmxnns
| 6620 005262 012777 015316 174232 MoV #DBUF ,aDRVBAR :SET UP CURRENT ADRS
6621 005270 012777 177377 174230 MOV nnynwwmawmswuaemnnumnm
6622 005276 106427 000000 MTPS  #0 *ENABLE THE lnra
6623 005302 012777 000103 174514 MOV #103,3DRVCSR  :SET IE, FNCT 1 & GO
6624 005310 052777 000400 174206 BIS #400 3DRVCSR  :SET CYCLE
6625 005316 013737 001524 001122 MOV DRVCSR,$BDADR  :SET UP CSR ADRS
6626 005324 012737 001702 001124 MOV #1702,8GDDAT LD EXPECTED
6627 005332 017737 174166 001126 MOV aDRVCSR,$BODAT :READ THE CSR
6628 005340 042777 000100 174156 BIC #100,aDRVCSR  :CLR INTR ENABLE
6629 005346 104005 ERROR S :WCO FAILED TO INTERRUPT (SNGL CYCL ON COULD CAUSE THIS)
6630 005350 B8R 2s :GO RESTORE VECTOR
6631 005352 022626 1%: CMP (SP)+,(SP)+ JINTR RETURNS HERE = FIX STACK SINCE NO RTI
6632 005356 004537 010156 JSR RS, CKSTAT :GO CHECK STATUS
6633 005360 001702 1702 :CSR STATUS EXPECTED
6634 005362 000310 200. ‘# OF XFERS
6635 005364 104007 ERROR 7 RETURN HERE IF SIATUS ER - EXPECTED STAT C,
6636 *CYCLE, READY, IE & FNCT
6637 005366 000407 BR 28 16O RESTORE VECTOR
6638 005370 104010 ERROR 10 *RETURN MERE IF WC ER = EXPECTED 0
6639 005372 05 28 :GO RESTORE VECTOR
6640 005374 104011 ERROR 11 *RETURN HERE IF BAR ER - SHOULD = DBUF +620
6641 005376 000403 BR 28 *GO RESTORE VECTOR
i 005400 004737 010460 JSR PC,CKDAT RETURN HERE IF OK = NOW GO CHECK DATA
6643 005404 104013 ERROR 13 *RETURN HERE IF DATA ER = DBR CONTAINS WRONG DATA
ggzg 005406 004737 010132 28: JSR PC,RSTVEC *RETURN HERE IF DATA CHECK OK = GO RESTORE VECTOR
66[.6 ttttittttttttttt'ttttt‘ttttttttitttttittttttilt.itttttt'iitttttt
(3) -resr 23 TEST THAT THE CPU IS LOCKED OUT WITH SINGLE CYCLE OFF
(3) ttttttttttttttttttttttttttttttttttttttittitt.ttttttttt't'ttt'tt
55; 005412 000004 t§723:  SCOPE
(1) 005414 012737 000010 001160 MOV #10,STIMES ;:D0 10 ITERATIONS
6647 005422 013737 001524 001122 MOV DRVCSR,$BDADR  :SET UP CSR ADRS
6648 005430 004537 010112 JSR RS, SETVEC 26O SET UP INTR RETURN
6649 005434 005544 3$ SRETURN TO 3$ ON INTR
6650 005436 012700 000010 MOV #10,R0 D0 EIGHT 200 WORD XFER'S
6651 005442 005037 001126 CLR $BDDAT USR $BDDAT AS A COUNTER
6652 005446 012777 177470 174044 1$: MOV #-200.,aDRVWCR DO 200 XFERS (DATI'S)
6653 005454 012777 015316 174040 MOV #DBUF .3DRVBAR  :FROM DBUF
6654 005462 106427 000000 MTPS  #0 SALLOW AN INTR
6655 005466 012777 000101 174030 MOV #101,3DRVCSR  :SET IE & GO
6656 005474 052777 000400 174022 BIS #400 3DRVCSR  :SET CYCLE
6657 005502 000240 NOP : FREEBEE
6658 005504 000240 NOP
6659 005506 000240 NOP
6660 005510 005237 001126 28: INC $BDDAT :START COUNTING = SHOULD NEVER GET WERE
6661 005514 001375 BNE 2$ SUNTIL 64K
666% 005516 012737 000700 001124 MOV #700,$GDDAT ‘LD EXPECTED
6663 005526 017737 173776 001126 MOV aDRVCSR, SBDDAT nsno STATUS
6664 005532 062777 000100 173764 BIC #100,3DRVCSR R IE
6665 005540 104005 ERROR 5 NO INTERRUPT ON 200 DATI'S
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TEST THAT THE CPU IS LOCKED OUT WITH SINGLE CYCLE GFF

BR 4% ;GO RESTORE VECTOR
3s: CMP (SP)+,(SP)+ sFIX STACK SINCE NO RTI

DEC RO sDONE 8 TIMES?

BNE 1% :BR _IF NOT

TST $BDDAT s SHOULD STILL BE ZERO

BEQ 6% :BR_IF SO

ERROR 14 ¢BURST MD (SINGLE CYCLE=0) FAILS TO LOCK OUT CPU
4s: JSR PC,RSTVEC +GO RESTORE VECTOR
L L L L T T T T T T T e L
s*TEST 24 TEST THAT THE CPU IS NOT LOCKED OUT WITH SINGLE (YCLE ON
R R R R PR TR R RN R AR R AN AR RN RN RGN E RN IR
TST24: SCOPE

MOV #10,$TIMES ::00 10 RATIONS

ITE
MOV DRVCSR,$BDADR  ;SET UP CSR ADRS
JSR RS,SETVEC :GO SET UP INTR RETURN
3s *RETURN TO 3$ ON INTR
MOV #10,R0 ;D0 EIGHT 200 WORD XFER'S
MOV #0,$BDDAT :USE $BDDAT AS A COUNTER
18: MOV #-200.,3DRVWCR DO 200 XFERS (DATI'S)
MOV #DBUF ,aDRVBAR  :FROM DBUF
MTPS  #0 :ALLOW AN INTR
MOV #111,3DRVCSR  :SET IE, FNCT3 & GO
BIS #400.3DRVCSR  :SET CYCLE
NOP :FREEBEE
28: INC $BDDAT *START COUNTING
28 SUNTIL 64K = SHOULD INTR BEFORE OVERFLOW
MOV #4710,8GDDAT  :LD EXPECTED
MOV aDRVCSR,$SBDDAT :READ STATUS
BIC #100,3DRVCSR - CLR IE

ERROR 5 :NO INTERRUPT ON 200 DATI'S (WITH SINGLE CYCLE)

BR 5% :GO RESTORE VECTOR
3s: CMP (SP)+,(SP)+ sFIX STACK SINCE NO RTI

DEC RO :DONE 8 TIMES?

BN 1% :BR IF NOT

CM #0,$BDDAT :$BDDAT SHOULD HAVE BEEN COUNTED

BCS 4% :BR IF SO

ERROR 15 :CPU APPEARED LOCKED OUT WITH SINGLE CYCLE SET
4s: MOV aDRVCSR,SBDDAT ;READ STATUS

MOV #4710,8GDDAT :LD EXPECTED
CMP $GDDAT,$BODAT  ;CORRECT?

BEQ 5% :BR IF SO
ERROR 7 :STATUS INCORRECT ON XFER WITH SINGLE CYCLE SET
5$: JSR PC.RSTVEC :GO RESTORE VECTOR

crhkkttkttAAR AR RERCEEOCIRORERRERRRARRARARAARERACEARRACORCOAORRRRSCRORORETY

S*TEST 25 TEST THAT MAINT MODE CONTROLS FNCT BITS, XFER DIR & SINGLE CYCLE

crhnRRtARTARARARARRSRRRRRARERRRRAGRRRRAARAGCARREAARRARROARRCRCRRCERRRCERQORETSY

TS125: SCOPE

MOV #200,$TIMES ::D0 200 ITERATIONS

JSR RS,SETVEC :GO SET UP INTR RETURN

2% *RETURN TO 2% ON INTR

JSR PC,LDBUF1 :GO SET UP DBUF (SPECIAL COM PATTERN)
MOV #11702,3$ :3% CONTAINS EXPECTED STATUS

SEQ 0031
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DIAGNOSTIC MACY11 30(1846) 14-DEC-82 11:44 PAGE 61-22
125 TEST THAT MAINT MODE CONTROLS FNCT BITS, XFER DIR & SINGLE CYCLE SEQ@ 0032
MOV #1,4% H' CONTAINS THE CURRENT XFER NO # (MAX 8)
1$: MTPS #0 ;ALLOW INT
MOV #DBUF ,aDRVBAR  ;SET UP CURRENT ADRS
MOV 43.3DRVUCR :GET XFER

NEG aDRVWCR NEGATE FOR Wi
MOV 010101.30RVCSR ;S

BIS #400,aDRVCSR SET CYCLE

MOV DRVCSR, SBDADR SET UP _CSR ADRS
MOV 38, SGDDAT ;LD EXPECTED
MOV @DRVCSR,$BODAT ;READ STATUS

BIC #100,3DRVCSR ;DISABLE IE

ET UP MAINT, IE € GO

ERROR 5 sNO INTR ON XFER (IN MAINT MD)
BR 6$ :GO RESTORE VECTOR
2s: CMP (SP)+,(SP)+ sRETURN HERE ON INTR = FIX STACK SINCE NO RTI
JSR R5,CKSTAT :G0 CHECK STATUS
38: 11702 sTHIS LOCATION WILL CONTAIN EXPECTED STATUS
4$: 1 sTHIS LOCATION WILL CONTAIN CURRENT XFER # (MAX 8)
ERROR 7 sRETURN HERE IF STATUS ER = WILL EXPECT

sMAINT, COUNT INCREASE OF FNCT & STAT BITS,
sCYCLE, READY & IE
BR 6% :GO RESTORE VECTOR

ERROR 10 *RETURN HERE IF WC ER = SHOULD BE 0
BR &% 160 RESTORE VECTOR
ERROR 11 *RETURN HERE IF BAR ER-
BR &% :60 RESTORE vecron
ADD #1002, 3$ *RETURN HERE IF OK - ADVANCE EXPECTED STATUS LOC
BIT #BIT15.3s :LOOK FOR OVERFLOW
BEQ 58 ‘BR IF NOT
MOV #10700,38 *ENCT & STAT BITS suoumo BE ZERO THIS TIME
5%: INC 43 *ADVANCE CURRENT XFER
CMP 1,48 *HAVE 1o xreas BEEN ooue
BNE 1$ :BR IF
JSR RS,CKDAT1 *NOW GO cuscx DATA
10 :# OF XFER'S TO CHECK
ERROR 13 *RETURN HERE IF DATA ER - (WITH MAINT SET)
NOP *RESTORE VECTOR NEXT
68: JSR PC.RSTVEC :GO RESTORE VECTOR
t'tttttttt'tttttit'ttt.ititt'ittt'..iiti'ti'tt'tttttt.tt.t"!"
-resr 26 TEST THAT A DATI FROM A NON-EXI>TANT BUS ADRS SETS °NEX"
ttttt't'it'tttt't'ttt't"t."tttttttttlt'tttttt.tt!ttttttt'it.t
t§126: SCOPE
MOV c1oo STIMES ::D0 100 ITERATIONS
MOV RO :RO WHEN ZERO SAYS CLR "NEX' WITH RESET
18: JSR n "SETVEC :GO SET UP INTERRUPT RETURN
28 *RETURN TO 2% ON TlHEOUt INTR
MOV #-1,3DRVWCR SSET UP FOR ONE XFER'S
MOV #160000,3DRVBAR :SET UP CA 10 160000 (RESERVED)
MTPS  #0 SALLOW INT

MOV #161,30RVCSR ;SET IE, XAD 17,16 & GO

BIS #400,8DRVCSR  :SET CYCLE

MOV DRVCSR,$BDADR  :SET UP CSR ADRS = SHOULD NEVER GET MERE
MOV #140760,$GODAT LD EXPECTED

MOV aDRVCSR,$BDDAT :GIVE THEM THE STATUS

BIC #100,3DRVCSR  :CLR IE

r‘"
|
n
|
|
|
|
|
!
{
I
z
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MAINDEC=11=CNDRA=A DRV11B DMA INTERFACE DIAGNOSTIC MACY11 30(1046) 14=DEC=82 11:44 PAGE 61=23
CNDRAA.P11  14-DEC-82 11:43 126 TEST THAT A DATI FROM A NON-EXISTANT BUS ADRS SETS *NEX' SEQ 0033
6763 006334 104016 ERROR 16 ;NEX FAILED TO CAUSE AN INTERRUPT
6764 006336 000521 BR 78 :GO RESTORE VECTOR
6765 006340 022626 28: CMP (SP)+,(SP)+ :SHOULD INTR RETURN HERE = FIX STACK
6766 006342 017737 173156 001126 MOV aDRVCSR,$BDODAT :READ THE CSR
6767 006350 012737 140760 001124 MOV #140760,$GDDAT :LD EXPECTED
6768 006356 023737 001124 001126 CMP $GODAT,$BODAT  ; CORRECT?
6769 006364 001405 BEQ 3$ :BR IF SO
6770 006366 013737 001524 001122 MOV DRVCSR,$BDADR  :SET UP CSR ADRS
6771 0063764 104016 ERROR 16 :STATUS ER = EXPECTED
6772 *ER, NEX, CYCLE, READY, IE, XAD17 & XAD16
6773 006376 000501 B8R 7 :GO RESTORE VECTOR
6776 006400 017737 173114 001126 38: MOV aDRVWCR,$BODAT :READ WORD COUNT
6775 006406 012737 177777 001124 MOV #=1,$GDDAT :SHOULD STILL HAVE =1
6776 006414 023737 001124 001126 CMP $SGDDAT.$BDODAT  :CORRECT?
6777 006422 001405 BEQ 4 :BR IF SO
6778 006424 013737 001520 001122 MOV DRVWCR,$BDADR  ;SET UP WCR ADRS
6779 006432 104010 ERROR 10 :WC INCREMENTED ON A TIMEOUT ER
6780 006434 000462 BR 78 *GO RESTORE VECTOR
6781 006436 017737 173060 001126 4$: MOV aDRVBAR,$SBDDAT :READ BUFFER ADRS
6782 006444 012737 160000 001124 MOV #160000,$GDDAT :SHOULD NOT HAVE INCREMENTED
6783 006452 023737 001124 001126 CMP $GDDAT,$BODAT  :CORRECT?
6784 006460 001405 BEQ 5% :BR IF SO
6785 006462 013737 001522 001122 MOV DRVBAR,$BDADR  :SET UP BAR ADRS
6786 006470 104011 ERROR 11 :BAR INCREMENTED ON A TIMEOUT ER
6787 006472 000443 BR 7 :GO RESTORE VECTOR
6788 006474 005300 5%: DEC RO :KEEP TRACK ON HOW TO CLR
6789 006476 001422 BEQ 6$ :BR IF CLR BY RESET
6790 006500 042777 040000 173016 BIC #40000,3DRVCSR  ;WRITE NEX TO ZERO
6791 006506 017737 173012 001126 MOV aDRVCSR,$BDDAT :READ CSR
6792 006514 012737 000760 001124 MOV #760,SGDDAT ‘LD EXPECTED
6793 006522 023737 001124 001126 CMP $GDDAT,$BODAT  :CORRECT?
6794 006530 001644 BEQ 18 *BR IF SO + REPEAT TEST FOR RESET TEST
6795 006532 013737 001524 001122 MOV DRVCSR,$BDADR  ;SET UP CSR ADRS
6796 006540 104016 ERROR 16 $*NEX' FAILED TO WRITE TO ZERO
6797 006542 000417 BR 7$ :GO RESTORE VECTOR
6798 006544 000005 6$: RESET :ISSUE BUS RESET
6799 006546 017737 172752 001126 MOV aDRVCSR,$BDDAT :READ THE CSR
6800 006554 012737 000200 001124 MOV #200,$GDDAT SEXPECT ONLY READY
6801 006562 023737 001124 001126 CMP $GDDAT,$BDDAT  :CORRECT?
6802 006570 001404 BEQ 78 :BR IF SO
6803 006572 013737 001524 001122 MOV DRVCSR,$BDADR  :;SET UP CSR ADRS
006600 104016 ERROR 16 *RESET FAILED TO CLR °NEX®
6805 006602 004737 010132 78: JSR PC,RSTVEC :GO RESTORE VECTOR
::tttttttt.ttttttttt'ttttltt'ttitttttitttttttﬁt'tt....tt't.tt.t't
(3) S+TEST 27 TEST 200 NPR TRANSFERS IN MAINT MODE
(3) ';ttttttttttttttttttttttt'tttitittttttttttttttt.ttltttttttttt'ttt
25; 006606 000004 7S127: SCOPE
(1) 006610 012737 000010 001160 MOV #10,STIMES ::D0 10 ITERATIONS
6807 006616 004537 010112 JSR RS,SETVEC 2GO SET UP INTR RETURN
6808 006622 006734 28 *RETURN TO 2% ON INTR
6809 006624 004737 010410 JSR PC,LDBUF1 *GO SET UP DBUF (SPECIAL COM PATTERN)
6810 006630 012777 015316 172664 MOV #DBUF ,3DRVBAR  :SET UP CURRENT ADRS
6811 006636 012777 177470 172654 MOV #-200.,3DRVWCR :SET UP FOR 200 XFER'S
681§ 006644 106427 000000 MIPS  #0 :ALLOW INTR
6813 006650 012777 010101 172646 MOV #10101,30RVCSR :SET MAINT, I1E & GO

L R SRS e——
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CNDRAA P11 14-DEC=-82 11:43 TEST 200 NPR TRANSFERS IN MAINT MODE SEQ 0034
. 6814 006656 052777 000400 172640 BIS #400,3DRVCSR  ;SET CYCLE
6815 006664 012737 000000 001126 MOV #0,$BDDAT :SET UP A COUNTER
6816 006672 005237 001126 18: INC $BODAT :COUNT AWAY
6817 006676 001375 BNE 1$ *WAIT TILL DONE = SHOULD INTR BEFORE OVFLO
6818 006700 013737 001524 001122 MOV DRVCSR,$BDADR  :SET UP CSR ADRS
6819 006706 012737 010700 001124 MOV #10700.$GDDAT  :LD EXPECTED
6820 006714 017737 172604 001126 MOV aDRVCSR,$BDDAT :READ STATUS
6821 006722 042777 000100 172574 BIC #100,3DRVCSR  :DISABLE IE
6822 730 104005 ERROR S :NO INTR AFTER 200 MAINT MODE XFER'S
6823 006732 000420 BR 3s :GO RESTORE VECTOR
6824 006734 022626 2s: CMP (SP)+, (SP)+ *RETURN MERE ON INTR = FIX STACK SINCE NO RTI
S 006736 004537 010156 JSR R5,CKSTAT :G0 CHECK STATUS
6826 006742 010700 10700 :EXPECTED STATUS
6827 006744 000310 200. :# OF XFERS
6828 006746 104007 ERROR 7 *RETURN WERE IF STATUS ER = EXPECTED MAINT,
6829 :CYCLE, READY & 1
6830 006750 000411 B8R 3s :GO RESTORE vecroa
6831 006752 104010 ERROR 10 *RETURN HERE IF WC ER = SHOULD BE 0
6832 006754 000407 B8R 3s :GO RESTORE VECTOR
6833 006756 104011 ERROR 11 *RETURN HERE IF BAR ER = SHOULD = DBUF +620
6r% 006760 000405 BR 3s :GO RESTORE VECTOR
6535 006762 004537 010526 JSR RS,CKDAT1 *RETURN HERE IF OK = NOW GO CHECK DATA
36 006766 000310 200. “# OF XFER'S TO CHECK
6837 006770 104013 ERROR 13 *RETURN HERE IF DATA ER = (WITH MAINT SET)
6838 006772 000240 NOP *RESTORE VECTOR NEXT
6839 006774 004737 010132 38: JSR PC,RSTVEC :GO RESTORE VECTOR
6840 t'ﬁ*'!.'ttttt!'i.t't"tQ'Q'tQt'ttt't!tt.tttttttit'."tt.ttttttt
(3) -rssr 30 TEST A 200 WORD MAINT MODE XFER TO EACH ADDITIONAL AVAILABLE 4K
(3) QQtt'tttttttt'.tttt"'t'ttittt'tttttittltittittittiittttt.ttttt
g; 007000 000004 t§730:  SCOPE
(1) 007002 012737 000005 001160 MOV #5.8TIMES ::00 S ITERATIONS
6841 007010 004537 010112 JSR RS.SETVEC 160 SET UP INTR RETURN
6842 007014 007150 3$ :RETURN TO 33 ON INTR
6843 007016 005037 001542 CLR DBUFP *GET LOWEST BUFFER ADRS
6844 007022 062737 020000 001542 18: ADD #20000,DBUFP  :POINT TO NEXT 4K
6845 007030 023737 001540 001542 CMP consz.oaurp :1S THE 4K THERE?
6846 007036 001465 BEQ 4 :BR IF NOT
6847 007040 737 010410 JSR PC,LDBUF1 :GO SET UP SPECIAL COMPEMENT PATTERN
6848 007044 013777 001542 172450 MOV DBUFP,3DRVBAR  :SET UP BUFFER ADRS
6849 007052 01 177470 172440 MOV #-200. ,3DRVWCR :SET UP FOR 200 XFER'S
6850 007060 106427 000000 MTPS  #0 :ALLOW INTR
6851 007064 012777 010101 172432 MOV #10101,3DRVCSR set MAINT,IE & GO
6852 007072 052777 000400 172424 BIS #400,3DRVCSR :SET CYCLE
6853 007100 012737 000000 001126 MOV #0,SBDDAT :SET UP A COUNTER
6854 007106 005237 001126 28: INC $BODAT :COUNT AWAY
6855 007112 001375 BNE 2 :SHOULD ALWAYS INTR FROM THIS LOOP
6856 007114 013737 001524 001122 MOV DRVCSR,$BDADR  :SET UP CSR ADRA
6857 007122 012737 010700 001124 MOV #10700 $GDDAT ;LD EXPECTED
6858 007130 017737 172370 001126 MOV aDRVCSR,$BDDAT :READ CSR
6859 007136 042777 000100 172360 BIC c1oo aDRVCSR  :DISABLE IE
6860 007144 104005 ERROR *NO INTR AFTER 200 MAINT MODE XFER'S
6861 007146 000421 BR LS *GO RESTORE VECTOR
686§ 007150 022626 38: CMP (SP)+, (SP)+ *RETURN HERE ON INTR = FIX STACK SINCE NO RTI
6863 007152 004537 010156 JSR RS,CKSTAT :G0 CHECK STATUS
6864 007156 010700 10700 *EXPECTED STATUS
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TEST A 200 WORD MAINT MODE XFER TO EACH ADDITIONAL AVAILABLE 4K

200.
ERROR

BR
ERROR
BR

ERROR
BR

JSR

:# OF XFER'S
*RETURN HERE IF STATUS ER = EXPECTED MAINT,
*CYCLE, READY & IE
;G0 RESTORE VECTOR
*RETURN MERE IF WC ER = SHOULD = 0
:60 RESTORE VECTOR
SRETURN HERE IF BAR ER = SHOULD = DBUFP+620
:GO RESTORE VECTOR
,CKDAT1 *RETURN HERE IF OK = NOW GO CK DATA
:# OF XFER'S TO CK
:RETURN HERE IF DATA ER
:GO RESTORE VECTOR
:TRY NEXT BANK
#DBUF ,DBUFP *RESTORE BUFFER ADRS TO LOWEST 4K
PC,RSTVEC *GO RESTORE VECTOR

~

i ad DS =2 PN
PAWN VIA-2PON

st RARRRRARRRARCCORORRERRORORROORARNOAARONARAACOASAASOASCCOAOOAOOREOIOOTSE

S+TEST 31

sttt REAAAEARRRSICORRREORORORARANRAARARAAEGAACRAAAAAERCAQOASCSAREANORNS

1$131:

101$:

i:hﬂuhu—ﬂu
oSN

1$:

el b adad
—% B e
o oo
o OO

001542 28%:

SCOPE

TEST THE ADDRESS (I1/0) ABILITY TO THE TTY PRINTER CSR

aSWR :KDF11-8?
ALTERN sIF YES.GO TO THE NEXT SUBTEST
R5,SETVEC :GO _SET UP INTR RETURN

sRETURN TO 18 ON INTR
#=1,30RVWCR sSET UP WC = 1 XFER

$TPS,DBUFP ¢SET UP BUFFER ADRS TO PRINTER CSR ADRS
$TPS,3DRVBAR sSET UP BUFFER ADRS = FROM PRINTER CSR
#0 cALLOW_INTR

aDRVDBR +ZERO THE DBR

#161,3DRVCSR  :SET IE, XAD17 & XAD16, & GO
#400,3DRVCSR  SSET CYCLE
DRVCSR,$BDADR  :SET UP CSR ADRS
#760,$GDDAT :LD EXPECTED STATUS
aDRVCSR,SBODAT :READ THE CSR
#100,3DRVCSR ~ :DISABLE IE
5 *NO INTR ON 1 WD XFER FROM XCSR
2% *GO RESTORE VECTOR
(SP)+,(SP)+ *INTR RETURNS HERE = FIX STK SINCE NO RTI
RS,CKSTAT 160 CK STATUS

:CSR EXPECTED STATUS

:# OF XFER'S

7 sRETURN HERE IF STATUS ER - EXPECTED CYCLE.
:XAD17 €& XAD16, RDY & IE

2% :GO RESTORE VECTOR

10 sRETURN HERE IF WC ER - EXPECTED 0

2% :GO RESTORE VECTOR

1" sRETURN HERE IF BAR ER = SHOULD = XCSR+2

2 *G0 RESTORE VECTOR
a$TPS,SGDDAT  :RETURN HERE IF OK - GET XCSR CONTENTS
aDRVDBR,$BDDAT :READ DBR

$GDDAT,$BDDAT  :CORRECT?

28 ‘BR IF SO

DRVDBR,$BDADR  :SET UP DBR ADRS

$TPS,$GDADR *GET ADRS OF DATA (XCSR)

20 *DATA ER FROM TTY PRINTER CSR

#DBUF ,DBUFP *RESTORE BUFFER ADRS TO LOWEST 4K

SEQ 0035
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MACY11 30(1046)

1
TEST THE ADDRESS (1/0)

PC,RSTVEC
NXDEV

14-DEC-82 11:44 PAGE 61-26

ABILITV TO THE TTY PRINTER (SR

:GO RESTORE VECTOR
: IGNORE NEXT SUBTEST

t!tt'.t'.t'.'.""""'t'.lﬁt'ﬁ'l.".'i".'.i".t'l.".t'ttt.tt

IN CASE OF KLF11-B TEST SOME SPECIFIED I/0 PAGE

QtQ".Q'ttt.'ﬁ...Q""Q'Q""Qﬁt'..t"t."'t.t.tt'.it.ttttit.ti

ALTERN ;ST

1%: cCMP

ERROR
MoV
JSR

2%:

10PAGE
NXDEV
R5,SETVEC

#-1,3DRVWCR
I0PAGE ,DBUFP
lgPAGE.iDRVBAR

aDRVDBR
#161,3DRVCSR
#400,aDRVCSR
DRVCSR,$BDADR
#760,$GDDAT
@DRVCSR, SBODAT
gIOO.iDRVCSR

2%
(SP)+,(SP)+
R5,CKSTAT

1n

310PAGE , SGDDAT
aDRVDBR . $BDDAT
3§DDAT ,$BDDAT

DRVDBR,$BDADR
58PAGE .SGDADR

#DBUF , DBUFP
PC,RSTVEC

== ~N
P=PAOW

:1/0 TRANSFER DESIRED?
SIF o SKIP THE TEST
;60 SET UP INTR RETURN
:RETURN TO 1S ON INTR
sSET UP WC = 1 XFER
:SET UP BUFFER ADRS TO I/0 CSR ADRS
:SET UP BUFFER ADRS = FROM /0 CSR
:ALLOW_INTR
sZERO THE DBR
;SET 1E, XAD17 & XAD16, & GO
;SET CYCLE
:SET UP CSR ADRS
;LD EXPECTED STATUS
;READ THE CSR .
;DISABLE IE
:NO INTR ON 1 WD XFER FROM XCSR
;G0 RESTORE VECTOR
:INTR RETURNS HERE = FIX STK SINCE NO RTI
:60 CK STATUS
;CSR EXPECTED STATUS
:# OF XFER'S
'RETURN HERE IF STATUS ER = EXPECTED CYCLE.
:XAD17 & XAD16, RDY & IE
GO RESTORE VECT
;RETURN HERE IF WC ER = EXPECTED 0
;GO RESTORE VECTOR
:RETURN HERE IF BAR ER = SHOULD = XCSR+2
+GO RESTORE VECTOR
+RETURN HERE IF OK = GET XCSR CONTENTS
+READ DBR
s CORRECT?

:BR_IF SO

:SET UP DBR ADRS

:GET ADRS OF DATA (XCSR)

:DATA ER FROM TTY PRINTER CSR
sRESTORE BUFFER ADRS TO LOWEST 4K
:GO RESTORE VECTOR

tt"'t'..'t'Qt"'i.""i"i".'ﬁttﬂ.tt.t.tit.'tt.ttt't.'ittttt.

DON T REPORT "END OF PASS' UNTIL ALL SELECTED DRV11'S HAVE BEEN TESTED

setRRRRRRRARRRARRARRCCTRORCRECOCOCRRARRARRRARCRRARARCRCRCCACROCRRERCCRS

NXDEV. SCOPE
NXDEV1: CLC

DHAP

$EO

010 DRVWCR
#10,DRVBAR
#10,DRVCSR
#10,DRVDBR
#4 ,DRVCT

:CLR CARRY

:LOOK FOR NEXT

:BR_IF ALL TESTED

OFFSET BASE BUS ADRS TO NEXT DRV11B

*OFFSET VECTOR ADRS TO NEXT

SEQ 0036
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6973 007742 062737
6974 007750 005237
6975 007754 032737
6976 007762 001744
6977 007764 000137
6978

(1)

(2)

(1

(1)

(1)

(1)

(1)

(1) 007770

(2) 007770 000240
(1) 007772 005037
(1) 007776 005037
(1) 010002 005237
(1) 010006 042737
(1) 010014 005327
(1) 010016 000001
(1) 010020 003022
(1) 010022 012737
(1) 010024 0001
(1) 010026 010016
(1) 010030 104401
(2) 010034 013746
(2) 010040 104405
(1) 010042 104401
(1) 010046 013700
(1) 010052 001405
(1) 010054 05
(1) 010056 004710
(1) 010360 000240
(1) 010062 000240
(1) 010064 000240
(1) 010066

(1) 010096 000137
5}; 010070 002012
(1

(1) 010072 377
(1) 010075 015
(1) 010102 050040
(1) 010110 000043

000004
001206
000001
002406
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001202

010072
000042

(=l
Vs
Ll A ]
wViESWN
O=—a~Ny
- )~

. — ———— ———— e e e e A 8 e e i e ——

MACY11 30(1546) 14-DEC-82 11:44 PAGE 61-27
TEST THE ADDRESS (1/0) ABILITY TO THE TTY PRINTER (SR

001532 ADD " onvcrz :
INC SUNIT :COUNT DEVICE
001536 BIT #1,DMAP ;IS IT SELECTED?
BEQ NXDEV1 :BR IF NOT
JMP RESTRT STEST NEXT
.SBTTL eno OF PASS ROUTINE
°'tttitttttttttt.tt'tii"ttt'itt'ttttttttt'tttﬁ.tt'tit'i"tttt"'
-xucnspsnr THE PASS NUMBER (SPASS)
S«TYPE "END PASS #XXXXX (uueae XXXXX IS A DECIMAL NUMBER)
:*IF THERES A MONITOR GO TO IT
:«IF THERE ISN'T JUMP TO START1
$EOP:
NOP
CLR $STSTNM ::2ERO THE TEST NUMBER
CLR STIMES ::7ERO THE NUMBER OF ITERATIONS
INC $PASS :; INCREMENT THE PASS NUMBER
001202 BIC #100000,8PASS  ::DON'T ALLOW A NEG. NUMBER
DEC (PC)+ ::LO0P?
$SEOPCT: .WORD 1
BGT $DOAGN ::YES
MOV (PC)+,3(PC)+  ;;RESTORE COUNTER
SENDCT: .WORD 1
$EOPCT
TYPE ENDMG ::TYPE “END PASS #'
MOV ipAss.-(spa ::SAVE SPASS FOR TYPEOUT
TYPDS ;360 TYPE==DECIMAL ASCII WITH SIGN
TYPE  ,SENULL :3TYPE A NULL CHARACTER
$GET42: MOV 342 ,RO *3GET MONITOR ADDRESS
BEQ $DOAGN “:BRANCH IF NO MONITOR
RESET *:CLEAR THE WORLD
SENDAD: JSR PC, (RO) ..so TO MONITOR
NOP AVE ROOM
NOP ::FOR
NOP ::ACT11
$DOAGN:
JMP a(PC)+ : :RETURN
$SRTNAD: .WORD START1
000 $ENULL: .BYTE =1,=1,0 ::NULL CHARACTER STRING

042116 SENDMG:
020123

LASCIZ <1§><12>/END PAS

S #/

SEQ 0037
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CNDRAA P11 14-DEC=-82 11:43 PROGRAM SUBROUTINES SEQ 0038
6980 .SBTTL PROGRAM SUBROUTINES
e
6983 3222222222383 2422222323 2233232223221 2333223222231 22 3222223222 3223223 2
6984 “HIS ROUTINE SETS THE PRIORITY LEVEL FOR NO INTERRUPT =
6985 SETS UP THE DRV11B INTERRUPT TO RETURN ON INTERRUPT
6986 TD THE ADDFESS INDICATED ((RS)) BY THE CALL +2
6987 R 2222222222202 22222323323323222222232332323 1212233232213 2322233323221°
6988 010112 106427 000200 S§ETVEC: MTPS  #200 ;SET UP FOR-NO INTERRUPT
6989 010116 012577 171406 MOV (RS)+,3DRVCTO SET UP INTR RETURN ADRS
6990 010122 012777 000200 171402 MOV lZDO.iDRVCTZ .KEEP PRIORITY LEVEL AT TOP ON INTR
ggg; 010130 000205 RTS RS SEXIT
6993 R g A A L et dd L
6994 THIS ROUTINE CLEARS THE DRV11B CSR = RESTORES THE DRV11B
6995 INTERRUPT VECTOR TO A HALT = RAISES PRIORITY LEVEL
6996 ttttttttttttttttttttttittttttttttttttttttttttttttttttittttttttt
6997 010132 005077 171366 RSTVEC CLR aDRV( sCLR STATUS & CONTROL
6998 010136 013777 001532 171364 DRVCTZ iDRVCTD °POINT VECTOR TO HALT
6999 010144 005077 171362 CLR aDRV(CT2 :SET UP HALT
7000 010150 106427 000200 MTPS #200 sRAISE PRIORITY LEVEL
;885 010154 000207 RTS PC JEXIT
7003 JIRARRARARAARAR AR RN A AR AR AR AR AN AA AR ANS
7004 THIS ROUTINE CHECKS ON ALL DATA TRANSFERS FOR: CORRECT STATUS,
7005 CORRECT WORD COUNT & CORRECT BUFFER ADDRESS = THE EXPECTED DATA IS
7006 SUPPLIED IN THE CALL +2 & +4 = THE RETURN IS TO +22 IF NO ERRORS
7007 DETECTED = IF AN ERROR IS DETECTED THE RETURN IS TO THE APPROPRIATE ERROR EMT
7008 R T e e e e e T e A e L T L T e i L
7009 010156 017737 171342 001126 CKSTAT MOV aDRVCSR,$BDDAT READ THE STATUS
7010 010164 042777 000100 171332 BIC #100, aDRVCSR :DISABLE THE IE BIT
7011 010172 012537 001124 MOV (RS)+,$GDDAT :SET UP EXPECTED STATUS
7012 010176 023737 001126 001126 CMP SGDDAT $BDDAT  ;CORRECT?
7013 010204 001406 BEQ 1$ BR IF SO
7014 010206 013737 001524 001122 MOV DRVCSR,$BDADR -SET UP CSR ADRS
7015 010214 062705 000002 ADD #2.R5 sPOINT TO THE CSR ER
7016 010220 000205 RTS RS EXIT HERE ON STATUS ERROR
7017 010222 017737 171272 001126 1%: MOV aDRVWCR,$BDDAT .GET wC
7018 010230 001410 BEQ 2% :BR IF ZERO
7019 010232 013737 001520 001122 MOV DRVWCR,$BDADR .SET UP WCR ADRS
7020 010240 005037 001124 CLR $GDDAT sEXPECTED 0
7021 010244 062705 000006 ADD #6.R5 :POINT TO THE WCR ER
7022 010250 000205 RTS RS SEXIT HERE ON WCR ER
7023 010252 011537 001124 2%: MOV (RS) +SGDDAT sGET XFER #
70246 010256 006337 001124 ASL SGDDA CDNVERT TO WORD
7025 010262 063737 001542 001124 ADD DBUFP,$GDDAT POINT TO LAST XFER +2
7026 010270 017737 171226 001126 MOV aDRVBAR, SBDDAT GET BA
7027 010276 042737 000001 001126 BIC #B1T00,$BDDAT  :DON'T WANT BITOO
7028 010304 023737 001124 001126 CMP $GDDAT,$BDDAT  ;CORRECT?
7029 010312 001409 BEQ 3% :BR IF SO
7030 010314 013737 001522 001122 MOV DRVBAR,$BDADR ;SET UP BAR ADRS
7031 010322 062705 00001 ADD #12.RS PDINT TO BAR ER
7032 010326 000205 RTS RS -EXIT HERE ON BAR ER
7033 010330 062705 000016 3%: ADD #16 RS sALL OK = POINT TO GOOD EXIT
;8§g 010334 000205 RTS RS EXIT HERE IF NO ERRORS




—

7041
7042 010336 01270